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Type 5 Radar Waveform_13

Borst Puol = C]_:lir:p Huoumber of
49z110. 0 o= T 17 = 17T7TE. O 1494. 0 1zs=. 0
BES4ST9. 0O T2 B 17T =2 1090, O i1s=z9. 0 —
151453, 0 T=Z. 4 17T =2 193, 0 1048, O —
ZFl1190z=. 0 == 5 17T = 1207. 0 14=7. 0 154=. 0O
4TE5TS. 0 =SB T 17T = 1=90. 0O 1==27. 0 10=9. 0
BEZ=Z1S50. 0 90, =2 17T = 1Z1=. 0 11==. 0 15=4. 0
1Z1ese. 0 T, =2 17T =2 1141. 0 19=1. 0 —
Zaz4eT. O T1.0 17T =2 195=. 0 i1417. 0 —
A4SzZZEZ. 0O =9, = 17T = 1482, 0 1914. O 158=. 0
Bl1EZZS. 0 555 17T 1 10=1. 0 — —
111853, 0 aT. 9 17T = 1eSo. 0 11==. 0 11e=. 0
Z2TEZ1=z.0 o0, = 17T = 1T15. 0 1=z4=. 0 12=Z7T.0
44544, O [T S = 17T 1 1Z07. 0 — —
Saz=Q1s. 0 L=E S =) 17T = 15394, 0O 1zZ=5. 0 10=4. 0
QQZ001 . O TT. O 17T = 1501. 0 1=51=. 0 —
Z2Ez11=. 0 oz 5 17T = 1T1i1. 0 151=. 0 1944, O
414599, O 0. T 17T 1 1939, 0 — —
STE47T1. 0 TS, 2 17T = 1=zZ21. 0 i017T. 0 —
Type 5 Radar Waveform_14
Bor=+t Pl =a C]_:Li:rp Homber of
NDff<et Width Ca=sl) Width Folses per |[FPRT—1 (o= FRT—Z2 f(mx=] FRET—3F (m=]
[a=) (MAH=) Buor=st
TESS1. 0 Bl1. 6 16 1 1555 0 - -
Z4E=Z13=. 0 9.9 16 = 17T3a=. 0 1S4, 0 107z, 0
415353540 ST. 0 16 ] 143560 1Tz4. 0 1599. 0
S53TTES. O T1. 4 156 =2 1z09. 0 19160 —
555110 [=1= =] 16 S 1555, 0 1559. 0 1414. 0
ZEE1ST. O BT.S 16 = 1176 0O 10z25. 0 -
FAE44D. O T3, = 16 = 17T=4. O 11=0. 0 —
SEESGS. O TQ. 9 16 = 1975, 0 15649, 0 -
S4455. 0 T =2 156 =2 1i01=. 0O 1477T.0 —
ZOSOsT. O BT. 3 16 = 1===. 0 151=. 0 -
SITSSTO.O [=T= =y 16 = 1o07o. O 1615. 0 -
5443997 O 1. T 16 = 1=2=Z=. 0 1T=5.0 115=. 0
13451. 0 TS. B 16 = 15160 1T&1.0 -
154=17T. 0 S5.5 16 1 1535 0 - -
SSSSEeT. O aT. B 16 S 1504, O 1105, 0 15355, 0
SE59TT. 0O S1.6 16 1 15250 - -
BEaTi=S=2. 0O sa. =z 16 1 114=. 0O — —
Type 5 Radar Waveform_15
Bor=st Ful=e Chirp Homber of
Dff=et - Waidth Ful=ses per |FRT—1 (m=s]) ([PRT-2 (us) |[FRT-3 (as)
(as] dedin e (MH=z) Burst
231425, 0 BS. 3 10 1 165T.0 - -
4727340 s0.9 10 2 1613. 0 17T7T4. 0O -
TiS999. 0 52T 10 1 1z215.0 - -
955144, 0 90. T 10 3 1376, 0 1537T. 0 12260
201845 0 53 .3 10 1 1432 0 - -
4426T1. 0 SE. B 10 3 1454. 0 1290. 0 1295.0
655145, 0 S50, T 10 2 1134.0 1563, 0 -
QzTa5E3. 0 B3. 5 10 1 1895. 0 - -
1T1BET. O Q. 2 10 2 1045. 0 1122, 0 -
413509, 0 g0, 3 10 2 1490. 0 11z1. 0 -
BERZ4Z 10 5B 1 10 1 1342 .0 - -
S961TT. 0 92. 3 10 3 1105.0 1297T.0 1483. 0
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Type 5 Radar Waveform_16

FirrSabe e Wik Poloer mir |[PRI-1 Ca=) [PRI-2 Cas) |[PRI-3 Cas)
=i = adit =ex L5 — s = ms — s
(o= s dlin s (AH=) Buor=st ®
113591, 0 51,5 14 1 110G, 0 - -
SIOBSZE. O T™5. 5 14 = 1e7Ts. 0 15890 -
SO0T3s. 0 55. 2 14 1 1693, 0 - -
BQZ0zZZ.0 = n 14 b 16845 0 153520 1546, 0
Sg595. 0O 55.1 14 1 1367T. 0 - -
Z5ESza5. 0 B=.0 14 1 1630, 0 - -
475956, 0 BE. 9 14 = 15352, 0 1572, 0 -
BEI=ZTL. O G1. = 14 = 1350, 0 1510, 0 -
BSE3ZS. 0 T™r. 2 14 =4 1513, 0 197T1.0 -
2558498 0 83.8 14 3 1=z45. 0 1901. 0 1=Z04. 0
453403z 0 54. 5 14 1 1053 0 - -
B4BEEEL. O 55.9 14 1 1654, 0 - -
41954, 0 SE. 5 14 1 15«41 . 0 - -
Z35075.0 B5. 0 14 = 1995, 0 1597T.0 -
4=9057T. O S5, 35 14 1 1556, 0O - -
Type 5 Radar Waveform_17
Baorst Pol=e Chirp Homber of
Offset Width Cas) Width Fulzex per |[FRT-1 (us) ([FRT-2 (us) |[PET-3 (us)
(u=) (MH=z ) Bur=st
549732, 0 52.5 9 1 1730.0 - -
24549, 0 a5 2 =] 3 1631. 0 1285. 0 1521.0
2887T35.0 s0.0 =] 2 105&. 0 1191.0 -
551620, 0 9z, 1 =] 3 1936. 0 1324.0 12030
S147TE9. 0 92, 6 =] 3 1TSE. 0O 1453, 0 1T52. 0
1081272, 0 E3. 0O =] 1 15812. 0 - -
Z55620. 0 85. 3 =] 3 1435, 0 167T3. 0 1585. 0
S2Z0529.0 E1. T =] 1 10z9.0 - -
TS4T21. 0 Bl .6 9 1 1B35. 0 - -
1043387. 0 5T.9 9 1 1136.0 - -
2232T5.0 8T.6 9 3 10zz. 0 1385.0 1540.0
Type 5 Radar Waveform_18
Bar =t el Chirp Homber of
l%ii;'_:et Wwadtilh Co=) '(;ii[;? gﬁzfs e FRT—1 o= PRYT—2 (o= FRT—3 [ |
SF15sEe51.0 52 = 17T 1 15100 - -
ASBES4T. O B5. 5 17T 1 1STE. O - -
ESTIES. O S5, 3 17T 1 157T=. 0 - -
1ZIEIE. O =T, 6 17 1 1795, 0 - -
Z93ETZ. O BS. T 17T =z 1831. 0 1704, 0O -
ABIE0O6. O =ST. 3 17T e 15890 115=. 0 1554. 0
E35047T. O T3. 3 17 2 1720, 0 1049, 0O -
10z2197T. 0 =ST. = 17T e 15120 1T1i7T. 0O 1541. 0
ZTZES4. 0 BT 6 17 = 1987 0 1B39. 0 -
44Z 1635, O az. 4 1T <] 14035, 0 1T1S. O 1791, 0
BE1S054. 0O =a.49 17T 1 16100 - -
S1803. 0 s51.3 17 1 1437, 0 - -
251965, 0 T™2.5 17T = 12360 15520 -
471454 0 as. & 17 <] 1845 0 1E6E9. 0 1544 0O
Sazsss. O S0, T 17T z 1907. 0 1041. 0 -
BO451 .0 TO. 4 17T = 17140 104=2. 0 -
ZZ1037T. 0 sz.0 17 = 1396, 0 1129, 0 -
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Type 5 Radar Waveform_19

Bar=t Pul Chirp Homber of
Dff=et 'idfﬁ (as) |Hidth Pul=ex per |PRI-1 f(us) |[PEI-Z (us) |PEI-3 (u=)
(a=] (MH=z) Bur=t
BS33255. 0 sl.8 5] 2 1TTZ.0 1TOS. 0 -
aT4299. 0 TE. O 5] 2 1208, 0 1230.0 -
EBTOS4. 0 93,8 5] 3 1611.0 1331.0 1257.0
35TOs1.0 §3.49 5] 3 1985, 0 13000 1175.0
B4T059. 0 al. 4 5] 3 13393.0 1T82. 0 1142.0
9353324. 0 a0, 3 5] 2 1605, 0 1036. 0 -
31401, 0 TT.8 5] 2 1251.0 1366, 0 -
322134.0 BS. T 5] 1 13392.0 - -
B11159.0 ao. 3 5] 3 18060 107T. 0 173T.0
qo01392. 0 8583 ] 3 17T75.0 1428, 0 1033.0
Type 5 Radar Waveform_20
i ey Eril=a raih Poaoer ot |eRI—1 (us) |[PRI—2 (u=) |[PRI-Z C(u=)
TIEOTE. O EZ. B 14 1 1009, 0 — —
19047S. 0 Ta. & 14 = 1547. 0 1082, 0 -
SE36351.0 B9, = 14 = 169=.0 14=4. 0 -
STTTSS. 0 BES. S 14 1 19==.0 - -
TESZZ29. 0 a5, T 14 = 1=z22. 0 i1T2T.0 1a7T=. 0
168622, 0 a=. 3 14 = 121=. 0 1557. 0 -
SEO&30. 0 B5. 5 14 1 1z01.0 - -
SS5=E944. 0 [=1= =] 14 1 159=. 0 - -
T4SZIZ20. 0 535 14 1 1027.0 — —
142756, 0 T4, D 14 = 1759, 0 14=a. 0 -
S3ST91.0 B9, 6 14 = 1975, 0 1675 0 -
SE0Z0zZ. 0 BES. 0O 14 1 1T41. 0 - -
TZZ2Z30Z2. 0 ET.E 14 = 1724, 0 1614 0O —
118953, 0 S0, T 14 = 1519, 0 13=a. 0 -
S1=330.0 B9, 6 14 = 1355, 0 1464 0 -
Type 5 Radar Waveform_21
Bor=+%t Pal=e Chirp Homber of B - E . B -
DEff=<et = Wadth FPol=ex per |(FRET—1 = FRT—2 = PRT—3 =
(o< Width (=) (MH=x] Bor=*+%t
SOBISSE. 0 S0, 5 14 1 1695 0O - -
TOOoOZ=. O B=. 9 14 1 1865, O - -
g50O1=. 0 9z. 9 14 = 1400, O 15=0. 0 1254 0
28TaTT. 0 g&. = 14 = 1855 . 0 1099, 0 1=z4=. 0
ASESE0. O ST. 4 14 1 1719, 0 - -
BTSE05. O as. 4 14 ) 1653, 0 1095, 0 1920, 0
T1I47TS. O B1.5 14 1 149=. 0 - -
ZBEIYISS. 0 b= P = 14 ] 1595 0 1640. 0 1574 0
455555, 0 53,35 14 1 1565, 0 - -
ES147TS. 0 s0. = 14 = 1E6E. O 10=4. 0 -
47445, 0 85. 6 14 = 111=. 0O 1=251. 0 195=. 0
2411385, 0 53,1 14 1 15819 0 — —
A4Z4TAT. O S3. T 14 1 17BS. 0 - -
Begesd. O 0.9 14 1 1954, 0 - -
Z2E3T=5.0 53,1 14 = 1079, 0 1547.0 -
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Type 5 Radar Waveform_22

Grioe g raih Pulocs per |[PRI-1 Cas) |PRI-2 Cus) |[PRI-3 Ca=d
=e it = x + e L= — = — = — o k-
(o=} LA Sk (Enesd) (MH= ) Bor =t -
1915683, 0 TS, S 16 = 15684, 0O 1004, O -
SEO0930. 0 Q1.9 16 = 1430, 0 17vEE. 0 1591, 0
s32120. 0 T8. S 16 =z 1354, 0 1925, 0 -
TOZ198. 0 a9, 1 16 <] 1187T.0 1186. 0 1235, 0
1TOTESE. O sa. 5 16 1 1450, 0 - -
S41T95. 0 ST, 4 16 1 1085. 0O - -
Si10S24. 0 as. S 16 = 1039, 0 1335, 0 13=5. 0
ES1564. O TS, 6 16 z 15035, 0 143T. O -
149800, 0 63,3 16 1 109z, 0 - -
=19859. 0 9. 0O 16 =] 17TS3. 0 1702, 0 -
4918035, O =sT.0 16 1 1185. 0 - -
BS91z4 0 sS4 0 16 <] 1BS9. 0 1305 0 17aT. 0
1ZS43E. 0 TT. 1 168 z 1ES1. 0 1425, 0 -
ZaTSS1. 0 a5, 5 16 <] 1906, O 18TE. O 1S36. 0
A4TO0OZ3. 0 Bz, 4 16 1 197E. O - -
B11535. 0 EE. S 16 1 1107. 0 - -
10TEZ0. O 55. 4 16 1 1546, 0O - -
Type 5 Radar Waveform_23
Bar=ct Pul=e Chirp Huomber of
Dffset Width (us) Width Fulse=s per (PRT-1 (u=s) |[FRI-Z2 (u=) |[FET-3 (us)
(u=) (MH=z) Bur=t
429540, 0 ES. 1 =] 2 1956. 0 1B55. 0 -
EQ4620. 0 Bd. 2 9 1 19230 - -
958239, 0 a1.a =] 3 103T.0 1968T.0 1703, 0
133831.0 BE. 3 9 1 1B6TE. O - -
SOTOBE. O 85.0 =] 3 1151.0 1631.0 1597.0
EGEL1ZTT. 0O 9.0 9 2 152T7.0 1T29.0 -
925360, 0 52,58 =] 2 1To1.0 1211.0 -
101025. 0 59.9 9 3 1T5T. 0 153T7.0 1850.0
SESEZ1. 0 51.7T =] 1 138T7.0 - -
BZ5035. 0 a7T. 2 9 3 13685. 0 1134.0 1330, 0
S93E9T. O BES. 5 =] 1 1835. 0 - -
Type 5 Radar Waveform_24
Bur=t Pal Chirp Huomber of
Off=et e Cas) |Hidth Ful=e= per |[PRI-1 f(u=x]) |PERT-—2 (u=) ([PRI—3 C(a=]
(as]) * = (MH=zx ) Buar=st
SE5101.0 83. 6 11 e 1299 0 10150 10a1. 0
251TaT. O 51.1 11 1 125=. 0 - -
S04513. 0 T3. 2 11 2 13340 14960 -
TZ9125. 0 61 .5 11 1 10300 - -
305040 Q5. 49 11 3 10060 1096 0O 1905, 0
254002 0 TO. S 11 2 11400 1073 0 -
475956, 0 d6. 4 11 3 1T=25. 0 14020 17Ts4. 0
TOO454. O TT. 7T 11 =2 13550 1151. 0 -
S3147.0 g6, B 11 3 1=z=29. 0 1275.0 1651.0
22B359T. 0 BS. 5 11 =2 15560 1014, 0 -
44949=. 0 T1i.0 11 =2 14=1.0 1456, 0 -
BT357T0. 0 Bz, 2 11 1 1254 0 - -
saTZEZ. 0 51.8 11 1 14730 - -
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Type 5 Radar Waveform_25

Buar=st Pul Chirp Haomber of
Offset i df]“; (as) |Fidth Pulsesx per [PRI-1 (us) |[PRI-2 (us) |[PRT-3 (u=x)
(n=]) * = (MH=z ] Bur=t
234387T.0 254 a 3 12e1.0 1152. 0 147T1.0
4ISBET. O Td. 6B =} 2 15897.0 167T.0 -
TEIZO02. 0 Tr. 7T 9 2 1165. 0 1224. 0 -
10Z253687T. 0 50.4 9 1 11640 - -
2029050 B4 4 9 1 1235.0 - -
4002, 0 04,0 9 3 1405. 0 1395. 0 1193. 0
TZ2A2T3. 0 aT. 2 a 3 1959. 0 1za0.0 1284.0
Qo3440. 0 a1.0 a 3 1316, 0 1204 .0 1240.0
170354, 0 B3. 6 =} 1 1031.0 - -
4353962, 0 TT.1 9 2 1232.0 1656. 0 -
BIESSS. O 91.1 9 I 1595. 0 157TZ. 0 1401.0
Type 5 Radar Waveform_26
Bar=st Palse Chirp Hamber of
Offset Hidth (us) Hidth Ful=exz per [FRI-1 (u=) [FEI-Z2 (us) [FRI-3 (ux)
(=) (MHz) Bur=st
1174995. 0 89.6 B 3 1627.0 1036. 0 1373.0
163234, 0 Ta. 0 = 2 1200, 0 1317.0 -
4305854 . 0 BE. T B z2 1740.0 1250.0 -
g11941. 0 93. 6 B 3 17T89.0 19090 1917.0
11357T19.0 TZ. 49 B z2 1997.0 15835.0 -
128406, 0 a5. 7T B 3 1130.0 1371.0 1362.0
451773, 0 5.1 B 1 1105.0 - -
TT4440.0 5T7.9 B 1 1875.0 - -
1096397. 0 Ta. 2 = 2 1259.0 1145.0 -
Type 5 Radar Waveform_27
Bar=+t Fol=e l:]_xirp Homber of
l:'lzii-)_;et Width Cu=) 'l'(;]d{;? gizis per |[FRT—1 (us) |[FEI—2Z (oxs) |[PELT—3F C(axs)
SEQ4S. 0O g2, T 1z = 1S5682. 0 1965, 0 -
ZERISE0. 0 a95. 0 1z e 1626. 0 1952, 0 1935, 0
ATISES. 0 Sz 2 1z 1 1964. 0 - -
BTTIST. 0 a5.9 1z e 1885. 0 1815. 0 1095. 0
S142T. 0 a5. 2 1z e 1000. 0 11=z0.0 1866. 0
ZIE1TS. 0 851 1z e 1146. 0 1885. 0 1S61.0
445TOT. 0 56,5 1z 1 1z217.0 - -
B513593. 0 =1 1z e 1409. 0 16T1.0 1a79a.0
SQ35. 0 S4. T 1z b 1325. 0 1629. 0 1739, 0
213093, 0 s0.0 1z = 1196. 0 1543, 0 -
4196193, 0 9.9 1z b 10435, 0 1ZE6. 0 1995, 0
BZEEI1. 0 at. 2 1z b 16854. 0 1Z59. 0 1156. 0
SEE196. 0 51.9 1z 1 1335, 0 - -
18T304. 0 9.1 1z b 15435, 0 1554. 0 1155. 0
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Type 5 Radar Waveform_28

Bor=14%t Pl = l::]_:lirp Hoambeaer oif

NDFFset wWiderih Co=1 Wadeth FPFol=se=s per PRT—1 o= FRIT—=2 o=l FRET—3 Coa=1
=D CAMH =3 Bor =+t

=ZTSsSS14. 0 =10 =0 = 1=Z0=. O 1S91 . 0O —
4zZ174S. 0 [S1=g | =20 1 1=S10. 0 — —
Se456T. 0O a1 . = =0 = 1174 O 11110 1SS0, 0
1133350 =2 4 =0 = 1==27. 0 137T=. 0 —
=5S09T. 0 TS . 5 =0 = 14=1 . O 1Ss0O4. O —
A0=ZS135. 0 a7, 0 =0 = iT3ao. O 175, 0 —
S4504=_ 0 =1 . =0 = 147=_ 0O 1=5=. 0 Zo0ao. O
SSSES. O T4, 3 =0 = 1541 . 0 1S5, 0 —
Z40=94. 0O [=1= =] =20 = 11970 1404 0O —
SSAT=T. O S, 0 =0 = 11=1. 0 1=Z54. 0 1045, O
SZg9Tes. O = Lo =20 = 1=35=. 0 1574, 0 —
TTEA=. 0 TE. = =0 = 1=7T=. 0 158z, 0 —
Z22352Z. 0 TS, =20 = 194S. 0O 1154. 0 —
SETIEE. O S35 =0 1 1T, 0 — —
Siz947. 0 S=2.T =20 1 1S74. 0 — —
SasSTsS. O sS4 T =0 1 1a9so. O — —
Z041==. 0 a1.0 =20 = 117S. 0 149=. 0 1519, 0
SEs0=07T. 0 (== 4 =0 1 1s45. O — —
4ASEST. O B3, 1 =0 1 11=9. 0 — —
4l1S50. O f=t= | =0 = 1055 O 1SS7T. 0O 1306 0

Type 5

Radar Waveform_29

Baorst Pul=e Cl}irp Homber of

DfEfset Width C(as) Width Fulszexs per |[FRI-1 f(us) [FRT-Z (us) |[FRI-3 (us)
(=) (MH=z) Bar=t

340301, 0 B9, 2 9 2 1040.0 1537TT.0 -
BO30ST. O ag. 4 =l < 1B53. 0 1340. 0 19350
gBe3101.0 TT. 4 =l 2 1320.0 1465, 0 -
43949, 0 S51.8 =] 2 1294. 0 1032, 0 -
S05Z64. 0 55. 2 =] 1 12689. 0 - -
5T1390.0 . 3 =] 2 1594. 0 1556. 0 -
53512T.0 TS. 2 =] 2 1T36.0 1TzZ2.0 -
11415. 0 95.0 =] ] 10z6. 0 1154.0 1071.0
2755520 =] = P 9 1 1T51. 0 - -
55383550 53T 9 5] 1455. 0 15860 1526.0
5019585, 0 a87.2 9 3 1511.0 1620.0 1215.0
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Radar Type 6 - Radar Statistical Performance

Trail # 1=Detection Trail # 1=Detection
0=No Detection 0=No Detection

1 15 1

16

17

18

19

20

21

22

23

OO~ |W|IN|IF|O

24

[EEN
o

25

[y
[N

26

[ERN
N

27

[ERN
w

28

RPlRr|lRr|R(P|RPR|RIP|RPR|RP|IRP|RPR|R |,
RPlRr|lRr|R(P|RP|RPIP|RPR|RP|IRP|R|R |k,

14 29

Detection Percentage (%) 100%

Type 6 Radar Waveform_0

I:oe anzy |O & = = at

[n ] j=1=1=1m] S518 === ST1E SSEES
= Sa21S S=25a SSTS S5=a Sae=3
1Ly SESE SEST [=1 b o SEES =1 =}t =
1= S=Ea0 SEEa f= =1 m = SETE SES=
=i SZ50-1 STO= SaS=E S=29= SES0
== SIZag S3a3= = A= S5=1= e e e
=0 S5=T S=TT SE13= S=0T SE=4
== S-al1S Sa0= SSST S5S5E STl
BN SEEa ==t ] S=11 S=93 S=5=5S
b =1 =t=1ST 1 E=1=1=hra [=1=1m = SEgOS S
=i S=>od SEZ== SZE0S S=5a S5 1
== SZ1S L= = 1 =1 ml= SaAST S=a0T
[=1m ] =0 b e SESE Sa0E SaaE S=ZaE0
[ =1 = Sas=a S55ST S=31= SE 1 S=EES
T SaAES f=teg=1=] S=S5S S=E1= SEgE
= =1=mi=] L=t=tm SESE Se=21 SaSE=
iy SE== ===t =t=1m]=1 S=0= =1=1=1=1
£ = 1= SS0OT =573 SSS1 SATS S=E
b= 1n | SaeTo =551 =11~ 8 S=E0E S=555
o= S2aE SESS =1 L= S53=9 Sa=1
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Type 6 Radar Waveform_1
I:or tansy |O il = = =
[ n ] S440 S=50 S4== SS07T Sa0=
= E=1=1=1m | SEBSEG S-S =1 =1=1=) 5361
. (=t=1=1ra S51S S=TS === S5
1= 5545 5521 STOs S5Z0 == hram]
=i =S=1= S=gs Sa4== === 8 Sa==
== =257 =1=3=hra =17 = = SEEE
=0 == =1=7 S=Toa SsSS== ==11 Sa13=
== =4 S5== S49= =S40 S=a4 =T1=
<L =1=1=1m] =STE= = =] S=TE S454
L 8-=4 =S4 =1=31=1m] SEES sS=5= SETE
=i S4a4T7= SET=S [=p 1= E ¥ =1 === S=35s
=D SSOE =1 == b =1 =1 =1-1 SS0s S451
(=1} s517T s551 S=as [=1=1=1% 1} =1 = =g
[ =1=4 S=== S=a= =SS55= sS5T= STOa=
g 5357 S53495S SB99 53545 =T i
T= =1=Tn = S=g97T =saTa == 5= =515
i 5547 S5T1 Sa7TO 5554 551=
E=1=4 ==91 S5493 == Tm =] =i = S450
L= 18} =44 SEO= = e =] =714 S44s
b= =1 sS40 S==0 =SS0 S545 Sqa45=

Type 6 Radar Waveform_2
I:zos wmnzy |O - = = <l
(5 ] I=1=1=1—1 ==19 =521 SaAGS S44=
= 57Oz SEBETES S5T7T=25 S=50 =1=1 1=
p N n = 3= = =307 =219 SEES1 =1=1=2ra
1= S4=E ===1 S5== =1 =3=1=] I=1=1=1=1
= =1 == S=a4 S=3TE E=t==1=1 sSS==
2= =1 == L= = = =T=1 SS1= =arg . k=
= S&a=0 SS5=T == == E=t==1m] Sa==
== =S5TS =554 S=TE =417 f=1 == =
L 18 ] = e = SEET 5516 Saga0 S=2d6
L 8= sSS=4 ===t SS=a S==0 =t=1==
= Sa493 =T=4 S4a4S= S40= S5==
== E=1=10= k8 L= = A 535135 E=1=1mlm) S=25=
[=1n ] [=t=p=]m] =1 =1=}=d === =1 =1m = [=t=1m 1
[ = 1= S44= =1 =158 =511 E=t=t=1=] SS07T
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Type 6 Radar

Waveform_22
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Type 6 Radar

Waveform_25
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Type 6 Radar Waveform_28
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Report No.: 2103RSU011-U3

Product Kinetic VolP Modem Temperature 27°C

Test Engineer Jake Lan Relative Humidity 65%

Test Site WZ-SR4 Test Date 2021/05/11-05/13
Test Item Radar Statistical Performance Check (802.11ax-HE160 mode — 5250MHz)

Radar Type 1-4 - Radar Statistical Performance

Trial Frequency 1 detect ,0 no detect
(MHz) Radar Type 1 | Radar Type 2 | Radar Type 3 Radar Type 4
0 5250 1 1 1 1
1 5253 1 1 0 1
2 5255 1 1 1 1
3 5258 1 1 1 1
4 5261 1 1 0 1
5 5264 1 1 0 1
6 5266 1 1 1 0
7 5269 1 1 1 1
8 5272 1 1 1 0
9 5274 1 1 0 1
10 5277 1 0 1 1
11 5280 1 1 1 1
12 5282 1 0 1 1
13 5285 1 1 1 0
14 5288 1 1 1 0
15 5290 1 1 1 1
16 5293 1 1 1 1
17 5296 1 1 0 1
18 5300 1 1 1 1
19 5303 1 1 1 1
20 5306 1 1 1 1
21 5309 1 1 1 1
22 5312 0 0 1 1
23 5315 1 1 1 0
24 5317 1 1 1 1
25 5320 1 1 1 0
26 5322 1 1 1 1
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Trial Frequency 1 detect ,0 no Trial Frequency 1 detect ,0 no
detect detect

27 5324 1 1 1 0

28 5327 1 1 1 1

29 5328 1 1 1 1

Probability: 96.7% 90.0% 83.3% 76.7%
Aggregate (Radar Types 1-4): 86.7% (>80%)
Radar Type 1 - Radar Waveform
Trial Id %;:“ e PRI (us) |pogoer of :::;f;"
(us) (us)

Download |0 Type 1 1.0 593. 0 a9 53222 0
Download 1 Type 1 1.0 £330 a3 52954. 0
Download |2 Type 1 1.0 T33.0 T2 53136.0
Download |3 Type 1 1.0 213.10 53 53244.0
Download |4 Type 1 1.0 BT8O T8 52854, 0
Download |5 Type 1 1.0 9330 57 53466. 0
Downl oad g Type 1 1.0 g15.0 A5 231700
Download |7 Type 1 1.0 T78.0 B3 52904, 0
Download |3 Type 1 1.0 833.0 B3 52794, 0
Download |3 Type 1 1.0 5730 az 53176.0
Download 10 Type 1 1.0 518.0 102 52536, 0
Dowrl oad 11 Type 1 1.0 B18.0 a6 531430
Download 12 Type 1 1.0 553. 0 a5 53010.0
Download 13 Type 1 1.0 538.0 a9 532820
Download 14 Type 1 1.0 B93.0 6 53048. 0
Download 15 Type 1 1.0 1721.0 3 53351.0
Download 16 Type 1 1.0 2925.0 19 55575. 0
Download 17 Type 1 1.0 3008, 0 13 541440
Download 18 Type 1 1.0 1541.0 35 53935. 0
Download 19 Type 1 1.0 1564.0 P 4055, 0
Dowrload |20 Type 1 1.0 1224.0 44 53856. 0
Downlaoad 21 Type 1 1.0 2304, 0 23 SE992.0
Dowrload |22 Type 1 1.0 1959.0 27 52893, 0
Dowrload |23 Type 1 1.0 1797.0 30 53910.0
Dowrload |24 Type 1 1.0 1975.0 27 53325. 0
Dowrload |25 Type 1 1.0 2005.0 27 54135.0
Download |28 Type 1 1.0 2051.0 26 53326.0
Dowrload |27 Type 1 1.0 BOS. 0 a3 53240.0
Download |22 Type 1 1.0 1113.0 43 534240
Dowrload |22 Type 1 1.0 1891.0 23 52943, 0
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Radar Type 2 - Radar Waveform

. Radar il Huomber of snstona
Trial Id Type Eld;h FRI (us) Pulces %::§th
us
Downl oad ] Type 2 3.8 153.0 27 4941.0
Download 1 Type 2 3.2 2z23.0 26 2733, 0
Download 2 Type 2 3.0 194.0 26 0440
Download 3 Type 2 4.0 1a0.0 i 9320.0
Download 4 Type 2 1.3 157.0 23 J8ll.0
Download g Type 2 4.3 Z217.0 25 BOTE. O
Download & Type 2 2.4 19z.0 25 4300, 0
Download T Type 2 1.7 Z212.0 24 S0583. 0
Download g Type 2 4.5 Zz4.0 Pt BETE. 0
Download q Type 2 4.3 158.0 25 4424.0
Download 10 Type & 1.6 172.0 24 4125.0
Download 11 Tyvpe 2 3.1 154.0 26 4004. 0
Download 1z Type & 1.9 z214.0 24 a136.0
Download 13 Tyvpe 2 1.0 2z2n 23 S106. 0
Downl oad 14 Type 2 2.3 225.0 25 S625. 0
Download 15 Type 2 3T 215.0 27 S505. 0
Downl oad 16 Type 2 3.6 174.0 2T 4595, 0
Download 17 Type 2 4.5 205.0 29 BOZZ. 0
Downl oad 15 Type 2 2.6 16z.0 25 4050. 0
Download 19 Type 2 4.3 205.0 25 S740.0
Download 20 Type 2 1.0 175.0 23 4094. 0
Download 21 Type 2 2.3 2270 25 SETS. 0
Download 22 Type 2 4.1 206.0 i aTEG. O
Download 23 Type & 3.2 191.0 26 4866, 0
Download 24 Type 2 2.5 15z2.0 26 4732.0
Downlaoad 25 Type 2 2.6 164.0 5 41000
Download 26 Type 2 4.4 z211.0 25 905, 0
Downlaoad 27 Type 2 z. 4 153.0 5 3EED.0
Download 28 Tyvpe 2 1.6 207.0 24 4985, 0
Download 29 Type & 2.4 160.0 25 4000. 0
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Radar Type 3 - Radar Waveform

) REadar Faol=e Homber of ffaveform
Trial Id Type Wi1dth FRT (usx) Pulzex Length

(us) (us)
Download 1] Type 3 8.5 471.0 15 g475. 0
Downl oad 1 Type 3 g.2 476.0 1T Gogz. 0
Download 2 Type 3 g.0 305. 0 17T S236.0
Download 3 Type 3 3.0 355.0 15 B0, 0
Download 4 Type 3 B.3 432.0 16 BI1Z2. 0
Download 5 Type 3 9.3 341.0 15 B135. 0
Download B Type 3 T.4 373.0 17T B341.0
Download T Type 3 B.T 254.0 16 4544. 10
Download a8 Type 3 9.5 291.0 15 5235.0
Download 9 Type 3 9.3 362.0 15 B516. 0
Download 10 Type 3 B.B 354.0 16 SEE4. 0
Download 11 Type 3 g.1 354.0 1T B5Z5. 0
Download 12 Type 3 B.9 206. 0 16 32960
Download 13 Type 3 g.0 295.0 16 47TES. 0
Downlaoad 14 Type 3 T.3 3070 17T SE19.0
Download 15 Type 3 8.7 453.0 15 g154.0
Downlaoad 16 Type 3 3.6 243.0 17T 4216.0
Download 17 Type 3 9.5 272.0 15 4896 0
Download 15 Type 3 T.B 379.0 1T B4, 0
Download 19 Type 3 9.3 305.0 15 S5490. 0
Download 20 Type 3 G.0 357.0 16 aTiz.0
Download 21 Type 3 T.3 400. 0 16 B400. 0
Download 2z Type 3 9.1 273.0 15 4914. 0
Download 23 Type 3 g.2 310.0 17T S270.0
Download 24 Type 3 T.5 440.0 1T T450. 0
Download 25 Type 3 T.B 4440 17T TS45. 0
Download 26 Type 3 9.4 256.0 15 4605, 0
Download 27 Type 3 T.4 436.0 17T T412.0
Download 25 Type 3 G. 6 315.0 16 a040. 0
Downlaoad 29 Type 3 T.4 4683, 0 17T T&TL. 0
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Radar Type 4 - Radar Waveform

) Radar Pul=e Humber of faveform
Trial Id Type Hidth FRT (us) Pulces Length
(us) (us)
Downl oad 1] Type 4 17.4 471.0 15 TOES. O
Downl oad 1 Type 4 15.9 476.0 14 BEE4. O
Download 2 Type 4 15.5 308.0 14 4312.0
Download 3 Type 4 17.48 355.0 15 9325.0
Download 4 Type 4 11.8 432.0 1z S184.0
Downl oad 5 Type 4 15.3 341.0 16 5456, 0
Download B Type 4 14.2 373.0 13 4549.0
Download T Type 4 12.6 254.0 1z 3405, 0
Downl oad g Type 4 15.7 291.0 16 4856, 0
Download q Type 4 18.5 38Z2.0 16 ST92.0
Download 10 Type 4 12.3 354.0 1z 4745, 0
Download 11 Type 4 15.48 3340 14 S3TE. O
Downl oad 12 Type 4 13.0 Z06.0 13 ZBTE. 0
Download 13 Type 4 11.0 293.0 1z 35760
Download 14 Type 4 14.0 3aT7.0 13 J9891.0
Download 15 Type 4 17.1 453.0 15 BT95. 0
Download 16 Type 4 16. 8 245.0 15 3T20.0
Downlaoad 1T Type 4 15. 4 2720 16 435E.0
Download 18 Type 4 14.5 379.0 13 4927.0
Download 19 Type 4 15.3 305.0 16 4550, 0
Download 20 Type 4 11.0 357.0 1z 4254.0
Downl oad 21 Type 4 13.9 400.0 13 Sz00. 0
Download 2z Type 4 15.0 27T3.0 15 4095.0
Download 23 Type 4 15.49 310.0 14 4340.0
Downlaoad 24 Type 4 15.0 440.0 14 B160.0
Download 25 Type 4 14.7 444.0 14 BZ16. 0
Download 26 Type 4 15.6 256.0 16 4086, 0
Download 27 Type 4 14.1 436.0 13 SEES. O
Downl oad 25 Type 4 12.3 315.0 1z 3T80.0
Download 29 Type 4 14.2 463.0 13 BO19. 0
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No (MHz) 0=No
Detection Detection
0 5290 1 15 5256.4 1
1 5290 1 16 5256.4 1
2 5290 1 17 5257.6 1
3 5290 1 18 5255.2 1
4 5290 1 19 5257.2 1
5 5290 1 20 5324.8 1
6 5290 1 21 5323.2 1
7 5290 1 22 5320.8 0
8 5290 1 23 5322 1
9 5290 1 24 5322.8 1
10 5253.6 1 25 5322.8 0
11 5255.6 1 26 5320.8 1
12 5254 0 27 5323.2 1
13 5253.2 1 28 5324.4 0
14 5254.8 0 29 5323.2 1
Detection Percentage (%) 83.3%
Type 5 Radar Waveform_0
BEST R o [k [BWTEE 05 [emrs coo [rrr e oo [rmr o oo
ETTTENC— Lo e - T - S
e o feas e B e e done
ST N e - T — =
TR TN R LTS e - e e e
EEE e LT e - Ee Y -
ST e - e PR -
S e - e TR e
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Type 5 Radar Waveform_1

Bor=+t Pal=e Cyirp Homber of
DEf=eat Width Ca=) Waidth Fol=ex per |[FRT—1 o= PRIT—2 (o= PRTI—3 (o=
(o= (MH=D) Buar=s+t
SBEGS4. 0O 95, 35 15 IS 1651, 0 1890, 0 10356, 0
ZE0111. 0 [=1= 1 = 15 = 1z9s. 0 1s807. 0 -
A44z0=5. 0 Q0. 3 1= = 1T1i0. 0 1Tz22.0 190, 0
B3TI01. 0 Sso. 1 1= 1 14a7T. 0 - -
SS0S4. 0 [=1= T 13 1 107z, 0 - -
ZEBOGS. O §55.9 135 5 1050, 0 15068, 0 1159. 0
419975, 0 Tr. S 15 = 1=z04. 0 10=z0. 0 -
Blz459. 0 T=Z. 1 15 = 1T15. 0 1541 .0 -
Qi1aT. 0 Ta. T 15 = 1654. 0 1050, 0 -
ZOZ0=ZT. 0 = 15 = 1635. 0 18«44 0 14=1. 0
I9SEST. O BT. 2 1= = 1649, 0 1555, 0 -
SSaszg. 0 ST. B 13 1 1955, 0 - -
TSZ3TE. O aT. 3 13 = 1352. 0 11z8. 0 -
1TS495. 0 ™. T 15 = 1951. 0 1Teg. 0 -
ITil415. 0 [=1= 15 IS 1T45. 0 15359.0 1059. 0
Type 5 Radar Waveform_2
Buor=+t Pol=e Cyirp Homber of
Off=zet Width Cas) Width Fulsexs per |[PRT-1 (us) |[FRT—2Z (a=s) (FRT—3F (ux)
(as) MH=) Bur=st
BOSBOS. O S0.7T 13 = 15650 16690 -
511140, 0 Q5.0 13 3 1545. 0 1500, 0 1533. 0
166024, 0 5.2 13 = 14350 1150. 0 -
STZ22ZT.0 556 135 5 14590 1T39.0 15z2.0
551497T. 0 B2, 3 13 1 1174, 0 - -
TST49Z2. O T4, T 13 = 13120 16035, 0 -
140148, 0 859.5 13 b} 195=2. 0 1554, 0 1z=1.0
S45165. 0 B3 2 13 1 15620 - -
554164, 0 a5 B 135 5 11z=z. 0 14650 1z99.0
TEOZT1. O Q4. & 1= pc] 1851. 0 130z, 0 1TET. O
114955, 0 B3, 5 13 = 1105. 0 1535. 0 -
S22045. 0 SZ.0 13 = 1559. 0 1495. 0 -
S30025. 0 BZ. 5 13 1 1700, 0 - -
TITSQO. O 556 135 1 15960 - -
Type 5 Radar Waveform_3
Bor=+t Pol = C]_:h.irp Hombear oif
Dff<at Width Coas) Wadth Folse=x per FRT—1 o= FRIT—2 o= FRT—3 o=
(=1 (MH= Boar=+t
TIGS9. O S0, S 1T 1 i17Tao. O - -
2445685 0 565 17 1 1474 0O - -
4133950 a5 9 17T ] 1g917T. 0 1305, 0 18650, 0
SSEeS1T. 0 [=3c =] 17 1 114=. 0 - -
SZal11.0 521 17T = 1155, 0 1196. 0 -
EZEESE. 0 S5, 9 1T 1 1907, O - -
941450 S5, 4 17T 1 1564, 0 - -
SE4ZF96. O T=. 4 1T = io09s. 0 1554, 0 -
ZF1S54s. 0 S=2.0 17 = 198, 0O 1s0z. 0 -
Z0zZ015. 0 591 17T = 14z9. 0 1650, 0 -
FIT1ITST. O S 1S Y 17 = 101, 0 1154 0 1470, 0
S41535. 0 aT. S 17T ] 15a9s. 0 1519. 0 1370, 0
10595, 0 55, 4 1T 1 1194, 0 - -
1s0s7T0o. 0 =39 17 = 140z, 0 144, 0 19326 0
SS0955. 0 5.5 17T ] 1559. 0 1045, 0 1154. 0
S23145. 0 S0, &8 17 1 14=Z4. 0 - -
B941564. 0 S1. 4 17T 1 1=z635. 0 - -
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Type 5 Radar Waveform_4

Ear=st Palze Chirp Hamber of
Dff=zet ¥idth (us) Wi1dth Fulzex per [FETI-1 (u=x) |[FET-2 (ux) [FRI-3 (ux)
(a=] MHxz) Bur=t
S0E2955. 0 T4. 49 & z2 1309.0 1476, 0 -
BZE15T. 0 BS. T B 1 iTiE. 0 - -
947393, 0 BS. 9 B z2 15815.0 1475. 0 -
1269236.0 95. 3 B 3 1619.0 1915. 0 1155. 0
263514.0 B3.5 B 1 1227.0 - -
585970, 0 T4.9 5} 2 1536. 0 1103. 0 -
ams0139. 0 51.3 & 2 1647.0 1995. 0 -
1230432, 0 T1.4 & z2 1509.0 1920, 0 -
ZEIRIZ. 0 5T.4 B 1 1863.0 - -
Type 5 Radar Waveform_5
mareea Eudl=s Srram = ;efr PRT—1 Coas) |[PRT—2 C(o=) |[PRT—3 (o=l
Co=1 Widrh Co=) |‘gewed Bor=1t
=TZaE1. 0 S5, 4 15 1 18TS. O — —
454595, 0 S55. 14 15 1 1141 — —
Sazsds. 0 Q4.5 15 = 17s9. 0 1ez=. 0 1=51. 0
Q1se=. 0 EEN 15 1 1330, 0 — —
2E2111. 0 aT. 4 1 E 1420, 0 1TES. O 1077. 0
ald1Es. 0 e 15 1 1979, 0 — —
STEO1S. O 54. 9 15 1 12610 — —
Tism1l. 0 eSS 15 = 1zas. 0 147=. 0 —
cEmzs9z. 0 TO. 1 15 = 1e01. 0 1039, 0 —
ZozET1. 0 as. o 1 E 1910, 0 1175, 0 1eca. 0
SS4s99. 0 TO. 4 15 = 1955, 0 1031 .0 —
S51555. 0 95, 7T 15 =S 1555 0 10=9.0 1=4=.0
Z1zazs. 0 a5 15 = 1416. 0 1aT=. 0 119=. 0
FT410=. 0 eSS 15 = 1S686. O 107=. 0 —
SSa54z. 0 a0, = 1 = 1TT=. 0 1ez2z. 0 —
SZZzas. 0 S5 = 15 1 1015, 0 — —
19=497. 0 BES.d 1= 1 1&e7TT. 0O — —
FEAEES. O Se. 0 15 1 1=a0. 0 — —
Type 5 Radar Waveform_6
Bar=s+t Pul=e Chirp Homber of
DEfset ¥idth (u=) Width Pulses per |[PRT-1 f(us) |[PRT—2 (us) |[PRT-—3 (us)
(a=] * — (MHz ] Bur=zt
TTZ225. 0 aT. 2 10 e 1624. 0 1641. 0 1645. 0
15537T.0 B4, & 10 1 18535, 0 - -
ZEOEZZ. O 1= 10 1 18350 - -
S0ZE43. 0 55. 9 10 1 19685, 0 - -
T45123. 0 B4 T 10 1 13950 - -
Q339320 94 9 10 ] 10810 17700 1935, 0
2302650 935 2 10 3 165350 136350 1124 0
4TZ015. 0 94. 0 10 3 1599. 0 1035. 0 1046. 0
Ti4919. 0 BE. 2 10 1 1916. 0 - -
954731, 0 93. 6 10 e 1444. 0 1555. 0 11730
200999, 0 5T.9 10 1 1TEE. O - -
441512, 0 ST.0 10 hc] 1157T.0 1T44. 0 17T7T1.0
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Type 5 Radar Waveform_7

Bur=t Fulse Chirp Homber of
Offset . Hidth Fuolzes per |[FRT-1 (us) |[FRI-2 (ux) |[FEI-3 (u=s)
Hidth (u=)
(n=) (MHz) Bur=t
g22101.0 g2.0 T 2 1252.0 10490 -
11129135. 0 BS. B T 1 1966. O - -
205117.0 92,5 T 3 1011.0 1539. 0 1294.0
4953909, 0 T1. 6B T 2 100&. 0 1150.0 -
fik==1=1=1- 1] 535.4 T 1 13035, 0 - -
1077514, 0 51.49 T 1 1530. 0 - -
189444 0 T T T 2 1802, 0 1804.0 -
453955 0 TE. 4 T 2 15500 1078, 0 -
TEO1ST. 0 T1.8 T z 15560 1390.0 -
1040215, 0 51.4 T z 13420 1905. 0 -
Type 5 Radar Waveform_8
Borsit Pl = I'_']_:lirp Hombar oif
DFFfzet Waidth Ca=1 Width Folses paer FRT—1 o= FRT —=F o= FRT—3 =T
s M= Bur=t
TO==1_ 0 S=. 0 15 = 1506 0 1=91._ 0 —
==Z1914. 0O a27T. 0 15 = 157, 0 1T=7T. 0 1ses. 0
STELSZ=. 0O BS. T 15 1 1==5. 0 — —
SZg0=1. 0O GBS, = 15 1 1=T<4. 0 — —
Sl4=5. 0 S0, 5 15 = 147T7T. 0 1SS=. 0 —
=Z204=00. O ST. T 13 1 17T=1.0 — —
Sss6e0=2. 0 =9, 0 1= = 1370 19=9. 0 1010, O
SaT3T4. 0O a5, 9 15 = 17260 1=99. 0 1642 0O
SESS=. 0 SS. S 15 = 1==5._0 1S==. 0 1TSS, O
1S48a7T. 0O ST. B 15 = 1TE=. 0O 11==. 0 1S21. 0O
SEETSYE. 0O aT. T 15 = 1=4=. 0 145=. 0 18655, 0
Ag0017T. O GBS, S 15 = 1=S0. 0 1&==. 0 —
1550 =4, 1 13 = 1=45. 0 1TSS 0 19s=. 0
166559, 0 S6. 7T 15 1 10650 — —
S154=54. 0O 5. 3= 15 = 1090, O 1=98. 0 12310
A4TO17T=9S. O aT. S 15 = 1S==. 0 1Z08. 0 1=zs7T.0
BZ1=54=. 0O a1, 5 15 = 1S=9. 0 1a7T3a. 0 1SEe8. O
l14a7T==0. 0O 9.9 15 = 105 0 17To=z. 0 187T=. 0
SOOoT1i4. O &=, 4 15 1 1545 0 — —
Type 5 Radar Waveform_9
Bor=+ ol = l'_']_:lirp Hombar oif
DFfFFfFset Width Coa=2 Waidth Folsexs per FRT—1 (o=l FRT—F o=l FRT—S o=
Ca=) M=) Bar=t
ATSBEIT. O 554 15 1 1T3S. 0O - -
BE3TOGBS. O 90, T 15 = 14450 14149. 0 1s17. 0
1=z=947. 0O T1L. = 1= = 1==27T. 0 1=Z=Z=2. 0 —
Za9TeOs. O BO. & 1= 1 1s0O7. 0 — —
4SS017T. O SIS 2 15 = 1a7Ts. 0 1T5s5. 0 —
BEZ0O501 . O 55 = 15 1 115503 — —
1l1e4SsT. 0 sS4, T 1= 1 1=Z54._ 0 — —
ZTTS47T. 0 1.1 1= 1 1z4z=. 0 — —
4Z3SEEa. O B1. 3 15 1 1Teas. O — —
BOOS093. O [ST=U 15 1 155T. 0O - -
I5ES5S0. O TS, = 15 = 155=. 03 105=. 03 —
ZETAZZ. 0O E=1m = 1= = i1e9. 0 14=7T. 0 —
41T4=7T. 0O E=2= D = 1= = 109a=. 0O 19=7T. 0 1216. 0
STT4093. O [ K e 15 = 1SS5. 0O 191=. 0 1zaz. 0O
TET1IG. O BS. T 15 1 11350, 0 - -
Z3TEZ0O. 0 =19 1= = 10=5. 0 1S17T.0 —
pet=l=bcin s S | Bz = 1= 1 15=2=. 0 — —
SSS445. O = Py 1= = 157T1. 0 1170, 0O 1Ze9. O
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Type 5 Radar Waveform_10

Bar=st Palze Chirp Haomber of
Dffset Width (us) Hidth Fulses per [PFEI-1 (us) |[FRTI-2 (us]) (FEI-3 (us)
(a=) (MH=z) Burst
113T06. 0 51.4 T 1 17T8T.0 - -
43BTEG. O B1. 5 T 1 1427.0 - -
TSE044. 0 85,5 T 3 1602, 0 1828.0 10B7T.0
1082836, 0 54.9 T 1 18659, 0 - -
TIETS. 0 B9, 4 T 2 15900 11400 -
98991, 0 54,8 T 1 1376.0 - -
T1i919z.0 TO. 3 T z 1275.0 1853, 0 -
1040805, 0 594 T 3 10520 1731.0 14920
341650 B3 2 T 1 11534.0 - -
Type 5 Radar Waveform_11
Buor=s+t Fol=e l:]_:lirp Homber of
l:'I:‘iEE;._:et Hidth C(u=) 'I:;]d{;!ll gizis per |[FRT—1 (os) |FRT—Z2 (o=} |[PET—3F (us)
Zzal4n, O 51.5 13 z 1480, 0 1z48. 0 -
ATSI3I4. 0 55,8 13 k] 1941. 0 127T.0 1513. 0
BASS06, O TG, 4 13 z 1729.0 1097. 0 -
SSE2aT. 0 55 a 1= 1 12260 - -
SOS946. O BO. = 1= 1 13150 - -
410573 0 TT. @ 1= = 1SE0. 0 1707, 0 -
B1STIZ. 0O B39 1= 1 igi9. 0 - -
SE4543 0 BS. S 1= = 1372, 0 1805 0 -
1TTT42. 0 an. & 1= bc] 11=z0.0 1873, 0 1375, 0
FEEOS3E. 0 Bl.S 1= 1 1007. 0 - -
S0116G. 0 6.4 1= k] i9=z9. 0 1371.0 1391. 0
TOQ1ES. O S0 6 1= = 1362, 0 1995, 0 -
152700, 0 S0, q 1= 1 193T. 0 - -
FSOES0. 0 T5. 5 1= = 1468, 0 1621.0 -
Type 5 Radar Waveform_12
Bur=t Pul Chirp Hamber of
Dff=et ¥i dfﬁ (ax) |Fidth Ful=es per |[FRI-1 f(us) |[FRI-Z (u=) [FRI-3 (u=)
(=) t i (MHz) Bur=t
TIS131.0 56.5 5] 1 1521.0 - -
1084051, 0 TT.T 5] z 1973.0 1BBE. 0 -
178030, 0 g51.5 5] 2 1305.0 1255. 0 -
489012, 0 B0 S 5] 1 112T7.0 - -
TS9S0T. 0 5T.1 5] 1 1079.0 - -
1050126, 0 55.0 g 1 1800, 0 - -
1420800 gi.6 a 3 1414.0 1359, 0 1z19.0
432231.0 B3, 3 5] 2 1927.0 1874. 0 -
TEZEEEE. O T1.9 g = 17T51.0 17030 -
1011711.0 86,0 5] 3 1545. 0 1335. 0 15035, 0
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Type 5 Radar Waveform_13

Burst Pulse Chirp Humber of
Dff<et Width Cas) WHidth Folses per |[FRI-1 f(us) |[FRI-2 f(us) [FRI-3 (us)
(us) (MHz) Burst
1533297.0 55,3 = 1 1117.0 - -
495635, 0 0. 3 =) 3 1573.0 1878.0 1250.0
8a8135.0 oo 4 = 3 2000, 0 1932.0 1043, 0
1222086, 0 TT.0 = P 1593. 0 1711.0 -
gEdz0. 0 95. 5 =) 3 1883.0 13400 1251.0
451515.0 T1.3 = Z2 109z, 0 1773.0 -
815369, 0 B6. 4 = 1 1490.0 - -
1ITR3TZ. 0 0. 3 =) 3 1316.0 1926, 0 1341.0
Type 5 Radar Waveform_14
Buar=st Fal=e Chirp Hamber of
Dff=set Width € 3 Width Fulzexs per |[PET-1 (u=x) |[PET—Z (u=s) |[FRI-3 (us)
(a=] * = (MH=z) Bur=t
290435, 0 95. 8 10 3 17420 1499 0 1525.0
ZT0495. 0 ao. 1 10 3 1325 0 1183 0 1970, 0
51247TT.0 T3. 3 10 = 1504. 0 1934. 0 -
TSSZ93. 0 B5. 4 10 1 1960, 0 - -
994555, 0 S4.9 10 3 1554. 0 1276, 0 1293.0
Z41560. 0 59. 4 10 1 1156.0 - -
4525T4. 0 BS. 0O 10 = 17ToO4. 0 1357.0 -
TZET3E. 0 5% & 10 1 18050 - -
gEER4Z. O TS, 6B 10 = 1614.0 1266, 0 -
211737T.0 BS. 9 10 1 1074. 0 - -
453210, 0 TS. 0 10 = 1505, 0 132656. 0 -
BEIS32E. 0 T3 10 = 1271.0 1165. 0 -
Type 5 Radar Waveform_15
g‘;:l;:::t Erilse 51:.11:1’; gﬁ::; ;efr PRI—1 C(u=) |PRT—2 (u=) |[PRT—3 (o=l
Ca=1 Width C==) | (aH=d Bor=t
TO1925. 0 TS. 9 15 = 1511. 0 1407. 0 -
1536235, 0 Bl1. 6 15 1 1514. 0 - -
Sla59s. 0 g941. 5 15 ] 163656 0 1445, 0 1059, 0
497434 0 a1 15 = 157z 0 151z 0 13100
BTIGETS. O TS, 9 15 = 1656 0 1155. 0 -
113524, 0 TT. S 15 = 1040, 0 1155. 0 -
2945375, 0 ST. 9 15 ] 1175. 0 1365. 0 1730, 0
4TS186. 0 Q4 1 15 = 1989 0 1016 0O 1367 0
BSE5SE9. 0O B3 = 15 1 1465, 0 - -
913540 S1. 35 15 = 1944, 0 1545, 0 -
ZTZS4T. 0 TS, T 15 = 1155. 0 1055. 0 -
454804 0 63 7 15 1 1235 0 — —
BIBIZS5. 0O B0, 5 15 1 1325, 0 - -
BSE51.0 =1 15 ] 15135, 0 1479. 0 1731, 0
250905, 0 S0 6 15 1 103535, 0 - -
431450 0 To. O 15 = 1637, 0 1304 0 —
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Type 5 Radar Waveform_16

Baor=st Paol=a Chirp Homber oif
NDff<et Width (o=l Width Fuolses per |FRET—1 (o= FRT—Z (m=) FRT—3 f(as)
(o= (MHx] Bor=st
BEl107Tas5s. 0 L= P =1 15 e 19593 0 187T=. 0 15220
45895, O ST.0 15 e 1695 0 1058, 0 1Zz45. 0
2251350 53,9 15 = 1z254. 0 1054, O -
409029 0 [=1= BN 15 = 1=207. 0 19==2. 0 -
S53554. 0 a5. 1 15 e 14==2_ 0 1400, O 19250
24419, 0 g5, 1 15 e 11520 14=1. 0 11150
2051490 S5, 5 15 e 14520 1951. 0 1z49. 0
FEE93Z2. 0 [=1= =] 15 =2 1=z20.0 1zZ9=. 0 —
Seg9404. 0O 52 =2 15 1 109=. 0 - -
=21=21. 0 1.1 15 e 11460 1665, 0O 1535 0
15=2559. 0 9= 5 15 ] 1615. 0 1100 O 1940, 0
SE4535. 0 TZ2.0 15 = 12540 18068, O -
S44=355. 0 L= P =1 15 e 15=1. 0 1900, O 13220
T2TS33. 0 54 4 15 1 1945 0 - -
160958, O =525 15 = 1456 0 1611. 0 -
S4Z2141 .0 BS. 6 15 = 1297.0 1T25. 0 —
Type 5 Radar Waveform_17
Bor=s=t Pl = I'.']_nirp Hoambar oif
l:EE:‘;;at Waidth Ca=1 .(I:;ii[:? ;3::5 e FRT—1 Coa=] FRIT—=Z o= PRT—3 =T
4533433 0 Q3. 35 15 = 1094 0O 1=57. 0 19564 0O
S9417T1. 0 s4. 5 15 1 1S557. 0 — —
1170=Z=2. 0 Q. O 15 1 11e7T. 0 — —
ZESSEe32. 0O Q5. T 15 = 1S7Ta. 0 1==7.0 1199. O
AZ1105. 0 Qs. S5 15 = 11=5. 0 1151. 0 14==. 0O
ST=ZzZ0Os. 0 b= | S ] 1= = 1071.0 1=79.0 1453=. 0
gOTT=E=.0 o=, =2 1= = 10=2=_0 18920 1322 0
S5O0357T. 0 L. = 15 = 1447 0O 1543 0O —
401747, O S5, 4 15 = 1120, 0O 1iso1. 0 1955, O
SSSTO=Z. 0O T=. 1 15 = 1=S1. 0 111=. 0 —
TYZ44. O TT. 1 15 = 10=7. 0 1015, 0 —
ZFZ0aeT. 0O EZ. 5 15 1 1654 0 — —
SS4s6=. 0 E1l. % 1= 1 16=Z9. 0 — —
S53TSs965. O BO. O 18 1 1657T. 0 — —
50433 0O 54 5 15 1 1417 0O — —
Z1=30=. 0 4. 5 15 = 1Sse9. 0 10==. 0 1Sa7T. O
SaeE107T. 0 55,5 15 1 1S=0. 0 — —
S183S0. 0 Q5. 1 15 = 15Ss9. 0 1S16. 0 1=Z50. O
215TS. O EQ. O 15 1 1355, 0 — —
Type 5 Radar Waveform_18
Bur=1t Fuol Chirp Huomber of
Off=sat '.di; Ca=) |Hidth Pulsex per |[FPRT—1 (u=) ([PERT—2 (u=) |[PRT-—3 (u=)
(a=x) * = (MHz) Bur=st
ZEI402. 0 83T 11 I 1520.0 1377.0 1717.0
S0RZ1Z2. 0 ae. 1 11 I 1974.0 1113. 0 1597.0
TI1TSS. 0 556 11 1 1147.0 - -
SII3TT.0 TS. 3 11 = 1240, 0 1253. 0 -
ZERSO1. 0 Ta. g 11 z 1547.0 1172. 0 -
ATQSE3. 0 T4.9 11 = 1530.0 1331.0 -
TOZ040. O T1.T 11 z 1454 0 1233. 0 -
SS64. 0 86. 5 11 3 1406. 0 1445. 0 1307.0
ZZEE11.0 aT.8 11 I 19720 1EEZ. 0 1005, 0
A51327T.0 g4.5 11 G 164350 1956. 0 1110.0
ETEROIE. O BS. 9 11 1 1935, 0 - -
Qo001 0 51.8 11 1 1474 0 - -
201926, 0 S5, T 11 1 12050 - -
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Type 5 Radar Waveform_19

Boar=sit Pol=e [:l_lirp Hombeaer oif
l:;i:?et Width Coa=X '(;]d[;:;l ;3;:5 Der FRT—1 (o=l FRT—F =1 FRT—S o=l
SOSIEaS. 0 a5. 9 17T IS 1594 0 1351. 0 1&S44. 0
46S=5=. 0 &0O. 0O 17T 1 1651 .0 — —
BEZSSdE. O [=3=m=] 17T = 14==. 0 11=1. 00 —
125559, 0 S5, = 17T 1 1=24. 0 - -
2856352, 0 L= 1o B Y 17T = 1545, 0 1455, 0 -
44SS0E. 0O ST.0 17T 1 1450, 0 - -
EO0S159. 0 T1. = 17T = 15=6_0 1461 0O —
105457T. 0 L= 1= 17T = 17T1=2. 0 1ess. 0 1z24. 0
2SS4z, 0 =55 17T = 17TTS. 0 1Z=5. 0 191=. 0
42550, 0 Q5. T 17T b= 1705, 0O 1255, 0 1TSS, 0
S5T19T. 0O S5, 0O 17T IS 197T&. 0O 11=1. 0 1450, 0
S5991 .0 T=. 93 17T = 1=0=_0 101=_ 0 —
2471220 [=1=pu 17T = 1=19. 0 1047. O -
A0S=07T. O T, = 17T = 1028 0 1=z27. 0 -
STOZ0OS. O LTS DY 17T 1 1=20&. 0 - -
B55917T. 0 b= P | 17T IS 15935, 0 1iaT1. 0 1197T.0
TS0, 0 S5 B 17T = 1o0g9. 0O 1244 0O 14550
IESTSES. 0 L=T=J S 17T = 1=10. 0 1Z85. 0 1z01. 0
Type 5 Radar Waveform_20
Burst Pulse Chirp Homber of
Off=et Width (as) Hidth Fol=zes per |[FRI-1 f(us) |[FRI-2 (us) (FRI-3 (us)
(us) (MHz) Burst
1239524, 0 B3, 2 2 1 1426. 0 - -
104215, 0 4.6 2 3 1144. 0 1ns1.0 1901.0
4BTOOG. O Q4.4 2 3 1235.0 1693.0 1206.0
529495, 0 95.49 2 3 1946, 0 1005, 0 1733.0
1193321.0 T2, B 2 2 1409. 0 1084, 0 -
29490, 0 ar. 7 5 3 1750, 0 1725, 0 1515.0
4226851, 0 9.3 5 z 1385.0 1574.0 -
TEoBE3. O g0, 2 5 z 1232.0 1856. 0 -
Type 5 Radar Waveform_21
Bar=st Ful=e Chirp Homber of
DEfset Width (u=) Width Pulses per |[PRTI-1 (us) (PRT-2 (us) |[PRTI-3 (us)
(a=) * (MH=z) Bur=zt
TESOTI. O Bi5. & 10 = 1555. 0 1155. 0 -
9593, 0 TT.1 10 b= 1214. 0 1300, 0 -
25197T1.0 59.5 10 1 1597.0 - -
494011.0 B0. 3 10 1 1961.0 - -
T33944. 0 g6, 8 10 3 1734. 0 1793.0 1252.0
STTSZE. O BT.S 10 = 1535. 0 1034. 0 -
221932.0 Q. 3 10 b= 1569, 0 10z4. 0 -
454021 .0 BS. 3 10 = 1273. 0 1062.0 -
TOBZ36. 0 B3, T 10 1 1953. 0 - -
9491310 51.3 10 1 1041.0 - -
191564, 0 Q0. 1 10 3 1055, 0 1423, 0 1570.0
43535404, 0O 5. 3 10 3 10z5. 0 1405, 0 1TET. 0O
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Type 5 Radar Waveform_22

Bor =+t Faol=ea Cyirp Homber of
%Egset Widith Cus) 1;%;?. g:izis ner |[FRT—1 Coas) FRT—Z (=) FRT—3F (o=
A4S0OT4S. O B4, 0 17T 1 15615. 0 — —
Bl1zZ300. O S51. T 17T 1 153T. 0 - -
107Taa0. O TG. S 17T = 1TS=. 0 1550. 0 —
ZEQSSE. O 3. 5 17 1 1856, O — —
4ZSE9E. O L= 1= =] 17T = 1525, 0 1687TE. O 174, O
SES9595s. O 27T, <4 17T = 1SO0. O 170, O 114z, 0O
SS1a6. 0 53. &6 17T = 19=5. 0 15375, 0 -
=497 T7T4. O S=. = 17T 1 145820 — —
411083, 0O B0, = 17T 1 15=4. 0 — —
STZ1s3Z. 0 S0, & 17T 1 1TEl1. O — —
BSEOS. O B3 = 17T 1 1107. 0 - -
FESTOZ. O 91 5 17T p=§ 1599 0 119=5. 03 1559 0
FO1ZTE. O S51.= 17 1 1397. 0 — —
S49ga17T. O SE. 1 17T = 1z27oO. 0 1T==. 0 1825, 0
4SEg94. 0O S22 6 17T 1 i1491. 0 — —
Ziol493. O S5T. 35 17T 1 1055, 0O - -
3T1175. 0 Bl 3 17 1 1797.0 — —
SIZ2Ta. 0 S4.Q 17T 1 1Q==z. 0 — —
Type 5 Radar Waveform_23
Bor=+t Fal Chirp Homber of
Off=et '_af; (u=) |Hidth Pul=e= per |[PRT—1 C(u=) |[PRT—2 (u=) [PRT-—3 C(u=)
(oa=x] * = (MH=] Buor=t
ZAS0Z. 0 S7T. 5 15 = 10910 1030, 0 1617. 0
Z2Ta49. 0 az. = 13 2 10EE. O 15232, 0 -
4215170 TT.1 15 z 1452, 0 i1az. 0 -
B1SS35. 0 S0, = 15 1 1564, 0O - -
10709, 0 SE. T 15 = 1z1z. 0 1TIE. O 1177.0
ZOISSZ. O =E - 13 = 1774. 0 1842, 0 1102. 0
SORSST. O SR T 15 b 1S3T. 0O 1441 .0 isaz. o
SO096E. O TE. S 15 =z 103z, 0 149T. 0 -
TESET1. O B1.9 15 1 1z15. 0 - -
180027, 0 B2, 5 13 2 199z, 0 1825, 0 -
IT4445. 0 5Z. 6 15 i 1003, 0 - -
SETSE1T. O SO, T 15 1 1SS0, 0 - -
TE1EZ1. 0O BO. 5 15 1 1410, 0 - -
1SEEZ1. 0 =7T.1 13 1 1835, 0 - -
ISO450. 0 sz, 1 15 1 izan. o - -
Type 5 Radar Waveform_24
Buor=st Pal Chirp Huomber of
Offset o df; (a<) |Fidth Fulses per |[PRI—1 (us) |[PRI—2Z (us) |PRI—3 (us)
(ax=x) * = (MH=z) Bur=st
B25441. 0 55,35 1z pc] 17T9E. 0 1355. 0 1914. 0
S45517T. 0 S4. 4 1z pc] 17590 1345, 0 114=. 0
153293 0 514 1z 1 1645 0 - -
SITE1OO. 0O BT. T 1z = 1494 0 1TSS, 0 -
S99=98. 0 S0, 6 1z = 1TOE. O 1394. 0 -
SZ0366. O Q4.0 1z pc] 1557T.0 1T45. 0 1736, 0O
1256160 T5. 2 1z = 1T23. 0 10z1.0 -
345501, 0 B5. 0 1z = 16090 1990. 0 -
STiE11. 0 TG. 3 12 =2 1T20.0 1TOE. O -
T3511=. 0 569, 4 12 =2 12390 185T. 0 -
QE0E4. 0 5651 12 =2 1994 0 1104. 0 -
3219350 63,5 12 1 1015 0 - -
545054, 0O B65. 0 12 1 13TE. O - -
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Type 5 Radar Waveform_25

Bor=st Pal Chirp Homber of
Off=at '-df; Ca<) |Hidth Pul=zexs per |[FPRI—1 (u=s) |[FPRI—2Z C(u=) |[PRT—3 (u=)
(ax=x) * = (MHz) Bur=st
TES44T. O 59,0 11 1 1909, 0 - -
TOTS4. 0 S0, 6 11 1 105T. 0 - -
Z04554. 0 Bl 5 11 1 1125. 0 - -
S1T497. 0 BZ. G 11 1 194, 0 - -
T41550. 0O S4. 0 11 1 1135. 0 - -
45189, 0 55T 11 1 1965, 0 - -
SEEES4. O BE. 9 11 1 1BBS. 0 - -
4Q0SET. O 5ST.T 11 1 iz11.0 - -
Ti2510. 0 Ti. = 11 = 11i11.0 1958, 0 -
1SEET. O BE.T 11 1 1051. 0 - -
ZEA0&5. 0 B35 11 1 1540, 0 - -
4B18Z1. 0 S2. 6 11 = 1BET. 0 1947. 0 -
BSS040. O TT. 2 11 z 1318.0 17T32.0 -
Type 5 Radar Waveform_26
Borsit FPuol =e C]_lirp Homber of
l%iiset Width (o=l '(;ii[:? ;3::5 e FRT 1 L | FRET =2 [ | PRT 3 Cm=
BESSE52. O TL. 4 15 = 1551. 0 1152. 0 —
15Z20=1. 0 (== § 1= = 17T37T. 0 1115. 0 1=0=. 0
=14040. O 1.1 1= 1 153=. 0 — —
AT=1I=S=2. 0 9. T 1= = 1=Z7T4. 0 19=9. 0 1=275. 0
EZEZ=Z91. 0 [=1= ] 1= 1 1251, 0 — —
1zZ2=3EE. O Qo. 1 1= = 143, 0O 154=. 0O 10s3=. 0
Z2gQ4az==0. 0 Se. 0 1= 1 1430, 0 — —
AS=100. O L= = § 1= = 1303z, 0 1=z=9. 0 1=1=. 0
El1ET=41. 0 [=F==] 1= 1 1831. 0 — —
11z29e=. 0 1. 7T 1= 1 17T3az. 0 — —
Z2T=1=0. 0 Q1.2 1= = 129z, 0 15se=. 0 144=. 0
A4ZA013=. O (== =1 1= = 1=Z11. 0 1825, 0 1019, O
SO4E0Ss. O 83,8 1= = 1436, 0 11ez. 0 1=5==. 0
Q=140 0 [=1m =] 1= 1 150, 0O — —
2545 TS. O (== 1= 1 121=. 0 — —
215855, 0O B4, = 1= 1 17T1i4. 0O — —
STETED. O SO, 1 1= 1 190, 0O — —
TZE1IOZ=. 0O S0, 3 1= = 1=Z4=. 0 11es. 0 —
Type 5 Radar Waveform_27
Bar=st Pal Chirp Hoamber of
Off=at '.diﬁ (as) |Hidth Ful=e= per |[PRT-1 (u=]) |[FRT-2 (u=) |[FERI-3 C(u=)
(a=s) * . (MH=x) Buarst
3516920 TO. 1 10 = 1284, 0 1526. 0 -
503408, O 0.3 10 z 1459, 0 1547. 0 -
B35431.0 TL.T 10 z 1255. 0 1509. 0 -
SO046. 0 B3, 4 10 z 1139.0 1740, 0 -
F221R3. 0 Bl.3 10 1 Z000. 0 - -
SE4443. 0 53. B 10 1 1589. 0 - -
S0S055. 0 59,5 10 3 1321.0 1025. 10 1137.0
S016&E. 0O =10 10 ] 1BT4. 0 13681. 0 1B2T. 0
EEE55. 0 51.8 10 1 1296, 0 - -
S3315E. 0 a3, 3 10 i 1z80. 0 11i19.0 1211.0
TT4341. 0 Q4. 4 10 ] 1145 0 1799, 0 1756 0
20475, 0 BT. 1 10 = 1403. 0 1230. 0 -
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Type 5 Radar Waveform_28

Barst Pal Chirp Homber of
Offset '.df; (as) |Fidth Fulses per [PRI-1 (us) |[FRI-2 f(us) |[FRI-3 (us)
(a=] 1 o (MHz) Bur=t
349977, 0 TO. 6B T 2 1149.0 1773.0 -
BTZ346. 0 95. 0 T 3 1055.0 1412.0 1044, 0
994035, 0 85. 2 T 3 1471.0 1652.0 1475. 0
1319482, 0 53.4 T 1 14250 - -
310215.0 T2. 6B T 2 1355.0 1612.0 -
B31985. 0 59,8 T 3 13500 1BB3. 10 1837.0
955ETZ. 0 BG. 9 T z2 1996, 0 15336.0 -
12783100 TT.3 T z 11290 17130 -
2T0719.0 59.3 T 1 1785.0 - -
Type 5 Radar Waveform_29
Bar=t FPal=e Chirp Hamber of
DEfset ¥idth (u=) Width Pulses per |[PRT-1 f(us) |[PRT—2 (us) |[PRT-—3 (us)
(a=) (MH=z= ) Bur=st
444153, 0 TS, 1 10 =2 1T=5.0 1926, 0 -
BST499. 0O 5T.T 10 1 1272.0 - -
Q27424 0 TZ. B 10 = 1TTE. 0 19820 -
1724590 96 2 10 3 17800 1860. 0 199490
414245, 0 99. 0 10 3 1541.0 1604. 0 1000, 0
BSES01. 0O T3. 6 10 =2 10350 1495. 0 -
595575, 0 T3. 4 10 =2 1265.0 1459. 0 -
143176, 0O TO. 2 10 =2 157T7T.0 1115. 0 -
3839560 aT. 5 10 ] 18587.0 19300 1T21.0
BZTOSE. O 51.5 10 1 1017.0 - -
SEEQET. O 93. 5 10 ] 1027.0 1271.0 1512. 0
113264, 0 T1.0 10 = 1854. 0 1550, 0 -
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Radar Type 6 - Radar Statistical Performance

Trail #
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0=No Detection
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Type 6 Radar Waveform_1
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Type 6 Radar

Waveform_4
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Type 6 Radar Waveform_5
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Type 6 Radar Waveform_7
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Type 6 Radar Waveform_10
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Type 6 Radar Waveform_29
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Report No.: 2103RSU011-U3

Product Kinetic VolP Modem Temperature 27°C

Test Engineer Jake Lan Relative Humidity 65%

Test Site WZ-SR4 Test Date 2021/05/11-05/13
Test Item Radar Statistical Performance Check (802.11ax-HE160 mode — 5570MHz)

Radar Type 1-4 - Radar Statistical Performance

Trial Frequency 1 detect ,0 no detect
(MHz) Radar Type 1 | Radar Type 2 | Radar Type 3 Radar Type 4
0 5492 1 1 1 1
1 5497 1 1 1 0
2 5503 1 1 0 1
3 5508 1 1 1 0
4 5514 1 1 1 0
5 5519 1 1 1 1
6 5524 1 1 1 1
7 5530 1 1 1 1
8 5535 1 0 1 1
9 5540 1 1 1 1
10 5547 1 1 1 1
11 5553 1 1 1 1
12 5559 1 1 1 1
13 5565 1 1 0 0
14 5570 1 1 1 1
15 5576 1 1 1 0
16 5582 1 1 1 0
17 5589 1 1 0 1
18 5595 1 1 1 1
19 5601 1 1 1 1
20 5606 1 1 0 1
21 5611 1 1 1 1
22 5616 1 1 1 1
23 5620 1 1 1 1
24 5625 1 1 1 1
25 5630 1 1 1 1
26 5635 1 1 1 1
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Report No.: 2103RSU011-U3

Trial Frequency 1 detect ,0 no Trial Frequency 1 detect ,0 no
detect detect

27 5640 1 1 1 1

28 5644 1 1 1 1

29 5648 1 1 1 1

Probability: 100.0% 96.7% 86.7% 90.0%
Aggregate (Radar Types 1-4): 93.4% (>80%)
Radar Type 1 - Radar Waveform
Trial Id %;::" o PRI (as) | poqrer °f t:;f;"
(‘llE] (‘l:l.E]

Dowrlead [0 Type 1 1.0 9158.0 58 53244.0
Download |1 Type 1 1.0 B158.0 56 53148.0
Dowrload |2 Type 1 1.0 738.0 T2 53138.0
Download |3 Type 1 1.0 B58.0 51 53285. 0
Download |4 Type 1 1.0 578.0 9z 531760
Dowrlead |5 Type 1 1.0 B78.0 8 52554. 0
Download |5 Type 1 1.0 3066.0 18 S55185. 0
Dowrlead |7 Type 1 1.0 593.0 89 532220
Download |3 Type 1 1.0 795.0 BT 53466, 0
Dowrload |2 Type 1 1.0 538.0 a9 53262, 0
Download |10 Type 1 1.0 758.0 0 S3060. 0
Dowrload |11 Type 1 1.0 518.0 102 52538, 0
Download |12 Type 1 1.0 875.0 B1 53558. 0
Dowrload |13 Type 1 1.0 898.0 59 52982, 0
Download |14 Type 1 1.0 858.0 B2 53196. 0
Dowrload |15 Type 1 1.0 917.0 55 53186. 0
Download |18 Type 1 1.0 596.0 59 53044. 0
Dowrload |17 Type 1 1.0 2400. 0 22 52500. 0
Download |18 Type 1 1.0 1890.0 25 52920, 0
Downlaoad 19 Type 1 1.0 J041.0 15 24735, 0
Download |20 Type 1 1.0 2503. 0 27 SS0BE. [
Downlaoad z1 Type 1 1.0 Z356.0 E3 24875, 0
Downlosd |22 Type 1 1.0 1921.0 25 537850
Dowrload |23 Type 1 1.0 1637.0 33 540210
Dowrload |24 Type 1 1.0 2662, 0 20 53240. 0
Download |25 Type 1 1.0 2685. 0 20 53700. 0
Dowrload |28 Type 1 1.0 2688. 0 20 5370, 0
Dowrload |27 Type 1 1.0 1317.0 41 539970
Dowrload |22 Type 1 1.0 1117.0 45 536160
Download |22 Type 1 1.0 996.0 53 52785, 0
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Radar Type 2 - Radar Waveform

. Radar fitdl = Humber of Nz ora
Trial Id Type 'iél.d;.h FRT (us) Pulses I(.:::?th
us
Download ] Type 2 1.4 154.0 23 35420
Download 1 Type 2 3.0 150.0 26 3900.0
Download 2 Type 2 1.5 210.0 23 4530.0
Download 3 Type 2 4.5 227.0 Pt B356. 0
Download 4 Type 2 1.6 z19.0 24 SESE. 0
Download g Type 2 1.3 209.0 23 4307.0
Download & Type 2 2.9 z15.0 Pt SB63. 0
Download T Type 2 4.0 164.0 Pt 4592.0
Download g Type 2 3.3 167.0 2T 4509, 0
Download 9 Type 2 3.3 17T6.0 26 45TE. 0
Download 10 Type 2 1.0 185.0 23 37895.0
Download 1 Tyvpe 2 3.6 195.0 27 5346.0
Download 1z Type 2 4.0 225.0 Pt B354, 0
Download 13 Tyvpe 2 4.9 2230 29 B4ET. 0
Download 14 Type 2 1.3 z04.0 23 4592, 0
Download 15 Type 2 1.0 230.0 23 S2a0. 0
Download 16 Type 2 5.0 179.0 29 a191.0
Download 17 Type 2 4.2 200.0 28 SEO0. 0
Download 15 Type 2 4.9 17T1.0 29 4959.0
Download 19 Type 2 2.5 207.0 25 51750
Download 20 Type 2 4.7 175.0 29 S1BZz. 0
Download 21 Type 2 3.4 199.0 27 53730
Download 2z Type 2 3T 152.0 27 4104.0
Download 23 Type 2 2.3 2z4.0 25 2600, 0
Download 24 Tyvpe 2 1.8 203.0 24 45720
Downlaoad 25 Type 2 4.9 Z217.0 29 BE33. 0
Download 2B Tyvpe 2 31 z215.0 26 5590, 0
Downlaoad 2T Type 2 2.2 182.0 25 4500, 0
Download 28 Tyvpe 2 2.9 213.0 26 5535.0
Download 29 Type 2 4.5 205.0 Pt a740.0
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Radar Type 3 - Radar Waveform

. Radar ol =e Homber of LIC A0
Trial Id Type 'H'[l d;.h PRI (us) Fulses I(.:::%th
us
Download 1] Type 3 6.4 356, 0 16 B1TE. 0
Download 1 Type 3 8.0 497.0 1T 5449.0
Downl oad 2 Type 3 6.5 385.0 16 Big0. 0
Download 3 Type 3 9.3 352.0 15 BETE. 0
Download 4 Type 3 B.6 31T7.0 16 a0Tz. 0
Download g Type 3 B.3 4534.0 16 TT44.0
Download B Type 3 T.9 259.0 1T 48915. 0
Download T Type 3 3.0 353.0 15 B354, 0
Download g Type 3 8.3 4z2.0 1T TiT4.0
Download 9 Type 3 8.3 209.0 17T 3553.0
Download 10 Type 3 6.0 305. 0 16 4925. 0
Download 11 Type 3 8.8 250.0 17T 4780, 0
Download 12 Type 3 9.0 457.0 15 GTEG. 0
Download 13 Type 3 9.9 319.0 15 S5742.0
Download 14 Type 3 6.3 494.0 16 Ta04. 0
Download 15 Type 3 £.0 313.0 16 S005. 0
Download 16 Type 3 10,0 470.0 15 g460. 0
Download 17 Type 3 9.2 461.0 15 g295. 0
Download 15 Type 3 9.9 475.0 15 Ge0d. 0
Downlaoad 19 Type 3 7.2 297.0 17T o049, 0
Download 20 Type 3 .7 3035.0 15 5454. 0
Downlaoad z1 Type 3 g. 4 256.0 17T 43520
Download 2z Type 3 a.7 225.0 15 4050. 0
Downl oad 23 Type 3 T.3 242,10 16 3472, 0
Download 24 Type 3 B8 312.0 16 499210
Download 25 Type 3 9.9 354.0 15 BaTZ. 0
Download 26 Type 3 a.1 439.0 17T T463. 0
Download 27 Type 3 T.2 396.0 16 BEE6. 0
Download 28 Type 3 T.9 363.0 17T B1T1.0
Download 29 Type 3 9.3 295.0 15 5310.0
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Radar Type 4 - Radar Waveform

) Radar Pul=e Homber of faveform
Trial Id Type Hidth FRI (us) Pulces Length

(us) (us)
Download 1] Type 4 11.9 356.0 12 4B3Z2.0
Download 1 Type 4 15.5 437.0 14 Be3E. 0
Download 2 Type 4 12.1 385.0 12 4620. 0
Download 3 Type 4 15.3 3gz2.0 16 B112.0
Download 4 Type 4 12.5 31T.0 12 3504.0
Download 5 Type 4 11.6 454.0 12 SE0E. 0
Download ] Type 4 15.3 239.0 14 4046. 0
Download T Type 4 17.7 3335.0 15 9285, 0
Download a Type 4 16. 2 42210 14 905, 0
Download 9 Type 4 16. 1 209.0 14 2926, 0
Download 10 Type 4 11.0 305.0 12 36960
Download 11 Type 4 16. 7T 250.0 15 4z00. 0
Download 12 Type 4 17.8 437.0 15 T305.0
Download 13 Type 4 19.5 319.0 16 5104, 0
Download 14 Type 4 11.8 434. 0 12 5925, 0
Download 15 Type 4 11.0 315.0 12 3796.0
Download 16 Type 4 0.0 4700 16 T2E0.0
Download 17T Type 4 15.3 461.0 16 T3TE. O
Download 15 Type 4 19.7 473, 0 16 TE43. 0
Download 19 Type 4 14.3 297.0 13 35610
Download 20 Type 4 19.2 305.0 16 4545, 0
Download 21 Type 4 16. 3 256.0 14 3554.0
Download 2z Type 4 17. 2 225.0 15 F3Ta.0
Download 23 Type 4 13.9 2420 13 3146.0
Download 24 Type 4 12. 5 31z2.0 13 4056. 0
Download L Type 4 19.7 354.0 16 SEE4. O
Download 26 Type 4 15.5 439.0 14 Gld46. 0
Download 27 Type 4 13.7 396. 0 13 S145.0
Download 28 Type 4 15.3 363.0 14 a05z. 0
Download P Type 4 15.3 295.0 16 4720.0

Page Number: 156 of 181



Report No.: 2103RSU011-U3

Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No (MHz) 0=No
Detection Detection
0 5570 0 15 5495.2 1
1 5570 1 16 5500 1
2 5570 1 17 5499.2 1
3 5570 0 18 5500 1
4 5570 1 19 5496.8 0
5 5570 1 20 5640.4 1
6 5570 1 21 5642 1
7 5570 1 22 5641.6 1
8 5570 1 23 5643.2 1
9 5570 1 24 5644 1
10 5495.2 0 25 5640 1
11 5498.4 1 26 5642.4 0
12 5498.8 1 27 5643.6 1
13 5500 1 28 5642.4 1
14 5495.2 1 29 5640.8 1
Detection Percentage (%) 83.3%
Type 5 Radar Waveform_0
Burst Palse Chirp Hamber of
Dffset #idth (as) |Hidth Fulses per |[FRI-1 f(us) [FRI-Z (us) (FEI-3 (us)
(ux]) (MHz ) Burst
455590, 0 54.9 B 1 1214.0 - -
TTT545. 0 T5. 1 B 2 1957. 0 1183.0 -
1101545, 0 SE. 4 B 1 1464. 0 - -
92791. 0 o0, 7 B 3 1663. 0 1272.0 1467.0
415985, 0 55.3 B 1 1629. 0 - -
T3EE00. 0 53.8 B 1 1690, 0 - -
1080702, 0 73.9 B 2 1215.0 1950.0 -
53051.0 569 B 3 1510.0 1951.0 1567.0
3TSTS7.0 75.9 6 2 1420.0 1709.0 -
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Type 5 Radar Waveform_1

Buor=st Pal Chirp Homber of
Off=et '.df; (a=) |Hidth Pul=es per ([PET-1 (us) (PRT—2 (us) (PRT-—3 C(a=s)
(as) * o (MHx) Bor=st
A45EET. O TE. 1 135 = 1480, 0 1651. 0 -
BSRS03. O 50,0 15 1 1422, 0 - -
SE04. 0 g1.8 13 = 1509. 0 1635, 0 -
215357, O GE. T 13 = 1219.0 1432, 0 1952, 0
421754, O as. & 13 = 1882, 0 1706, O 1TES. O
BI001Z. 0 55T 15 1 1SE6. O - -
836275, O 50,5 15 1 1935. 0 - -
159900, O Q9.7 13 = 1253, 0 1759, 0 1556, 0
SARTS0. O ao. 2 13 = 1212.0 1774. 0 1414. 0
BO3445. O ag. 2 13 = 1271.0 1896, 0 1402. 0
S11195. 0 BE. B 15 = 1624. 0 19z0. 0 -
164365, O as. 3 15 I 1716, 0 17T7T1.0 1595, 0
aT1E24. 0 TO. 4 13 = 1616. 0 1523, 0 -
STTRSS. O G4, 2 13 = 1593, 0 1240, 0 1911.0
Type 5 Radar Waveform_2
Bar=st Palze Chirp Hamber of
Dffset " Hidth Fulses per (FRI-1 (us) |FRT-2 (us) (FRT-3 (ux)
¥idth (u=)
(ns) (MHz) Bur=t
1226147.0 BE. 4 T 1 1220.0 - -
217006, 0 B0, 0 T 1 1874.0 - -
o33995. 0 g3. 0 T 3 1051.0 1315.0 1805, 0
SELT4E. 0 TG, 5 T 2 1573.0 1991.0 -
11836543, 0 BS. 2 T 1 1004, 0 - -
177140, 0 T4. 0 T 2 1514.0 1034. 0 -
499053, 0 aa. 3 T 3 1821.0 1TES. 0 1203, 0
g23149. 0 B5. 3 T 1 1745. 0 - -
1145909, 0 56,4 T 1 1970, 0 - -
Type 5 Radar Waveform_3
Boar=sit FPuol =e l_—.l_lirp Hombeaer oif
l%ﬁ:set Wideh Cas) Ei‘[:? ;3;:5 per |FPRT—1 (oaxs ) FRT—Z f(m=x) FRT—3 (o=l
BS540z 0O 1.2 17T oS 1504, O 14=25. 0 1=355. 0
=Z=Zg9S54. 0 B5. 0O 17T 1 1901. 0 - -
Sd1=5s. 0 S5, 1 17T 1 1=54=. 0 — —
So=ssEz2. 0 [=1= ] 17T 1 1209, 0 — —
A4ZTO=. O B3, 1 17T = 17T=T. 0O 10z0. 0 —
=Z0g9z=4=. 0 Q0. S 17T S 11353S. 0 1T17T. 0 i14=7T.0
STaOTS=. 0 TS. T 17T = 1450 03 1=90. 0 —
SZ1s09. 0 TS, O 17T = 15=9. 0 1=59. 0 —
ZE=STO. 0O TT. <1 17T =2 1086, O 1T15. 0 —
1Ss9sSi1=2. 0 TG, 2 17T = 1595. 0 1435, 0 —
SSOSTT. O Sz, 1 17T = 1444, 0O 1TSS, 0 -
S117T99. 0 B5. 1 17T = 1555, 0 10356 0 —
Qol1z. 0 Q4.5 17T = 1Zez. 0 15==. 0 11==. 0
158354z, O S5.0 17T = 1TE1. 0 10oz==. 0 1525, 0
SZE1009. 0O TS. 3 17T = 1095, O iTa1. 0 —
491945, O Sz, 0 17T = 1594. 0 1565, 0 -
BES4S=1 . 0 ST. 3 17T 1 1011. 0 — —
143ag7a. O s5.3 17T = 1=Z7ToO. 0 10=1. 0 14=Z0. 0O
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Type 5 Radar Waveform_4

Bur=t Ful Chirp Hamber of
Dffset '.dfﬁ (as) |Fidth FPulses per [FRI-1 (u=s) [PRI-Z (u=s) |[PRI-3 f(us)
(ax) t . (MH=z) Bur=t
SR1ZT3.0 83.0 T z 1341.0 1405. 0 -
852502 0 53. 5 T 1 1541.0 - -
1132937, 0 83,2 T 3 1927.0 1930. 0 1008, 0
235350, 0 56, 1 T 1 1495.0 - -
SERZ05. 0 635 T 1 1153.0 - -
815562. 0 T5. 6 T z 1535. 0 1874, 0 -
1103963, 0 91.0 T 3 1489.0 1865. 0 18a7. 0
193985, 0 a0, 0 T 3 1705. 0 1897.0 1439.0
489541, 0 80. 6 T z 1562.0 1BBE. 0 -
TEI0BE. 0 B0, 3 T 1 1277.0 - -
Type 5 Radar Waveform_5
Bur=t Pul Chirp Homber of
Dffset 'idfﬁ (as) |Fidth Pulses per |[PRI-1 f(us) [PRI-Z (us) |PRI-3 (us)
(=) (MHz) Burst
1333985. 0 TT.4 B 2 1261.0 1132.0 -
204T1E. 0 SE. B B 1 1847.0 - -
2B3205. 0 BZ.8 B 1 147T8.0 - -
Q298650 85,6 B 3 165T.0 1014.0 1665. 0
1295079, 0 BZ.T B 1 1483.0 - -
1595660 93 6 B 3 17200 1949.0 1834. 0
D22294.0 an. T B 3 1185.0 1830.0 17T3T.0
SEB0SS. 0 TO. B B 2 1600, 0 1266.0 -
Type 5 Radar Waveform_6
Offact Failee Width Fuloer mer |PRI-1 (u=) [PRT—2 (u=) [FRI—3 (u=)
T11STS. 0 ad. & 1z bc] 11=2=. 0 1145. 0 18730
BES5z5. 0 A5, T 1z bc] 132z 0 1954, 0O 1T=1.0
ETZ5zZ6. 0 Sz, 4 1z b= 1551. 0 1475. 0 -
4G0555. 0 59,1 1z 1 14550 - -
BEE1352. 0 [=1= = 1z 1 17510 - -
40171, 0 [=1= B | 1z =2 17T39.0 1114. 0 -
24RS36. 0 Q91 .2 1z b} 11040 19035, 0 16690
454759, 0 Bg. 1 1z = 1254 0 12160 -
BEOS41. 0 aT. 4 1= b} 1735, 0 11510 1099, 0
14852 0 B&. O 1= 1 10090 - -
2217T11.0 T1.9 1= = 1955. 0 1365. 0 -
4=5925. 0 75,1 1= = 1191.0 1573. 0 -
BE35500. 0 T2, T 1= = 1965. 0 1564. 0 -
5419365, 0 94 5 1= 3 14550 1=215. 0 1655.0
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Type 5 Radar Waveform_7
Bor=*+t Pol = I'_']_n.i:rp Homber oif
l::::;‘g;.;et Widih Ca=) 'I(';]-};? gﬂ;:; per |[PRT—1 Co=]) |[PRT—2 (o= |[PRT—3 (o<1
161S55S&S. 0 ST.9 15 1 155S7T. 0 - -
SEI0TEZ. 0 S5 1 16 = 19730 1s8=27T. 0 1S37T. 0
SO5TSE. O ST. 3 15 1 1Z00. 0O - -
ETASOZ. O SE. 4 15 1 1Ze3. 0O — —
140595, O GBS, 35 156 = 1396, 0 1256. 0 -
S10555. 0 S50 1 15 = 1065, O 1S0O5. O 1137T. 0
482157. 0 52,5 16 1 1999. 0 — —
ES=Z191. 0 SZ. 6B 15 = 1636, O 1095, 0O -
1195=1. 0 B3, 1 15 = 11=4. O 151=. 0 —
Z90006. O TE. 1 16 = 1352, 0 1E37. 0 —
A4Gl1S06. O S9.9a 15 1 172G, O — —
BI3Z25S54. 0 B335 156 1 1195. 0 - -
SETTS. O 51.6 16 1 1=6T. 0 — —
ZESS9S. 0O B=. = 15 = 1808, O 1570, 0O —
440515, 0 B335 156 1 1335650 - -
BEOSZ215. 0 L= b = 15 = 1540, O 194=. 0O 1512, 0
TTE4AS. O 55. 35 156 1 1955, 0 - -

Type 5 Radar Waveform_8
Bor=+t Pul=ec Cyirp Homber of
ODOEfEf=et Width Ca=) Width Folses per |[PRAT—1 (us) (FRT-—2 (us) |[PRT-—3F (as)
Ca=] (MH=) Buor=+t
ZE15T4. 0O so.9 14 1 19s50. 0 - -
4TSE41.0 =5 S § 14 3 1566, O 1=337.0 1559.0
BETIITI. O 54.6 14 1 11330 - -
54055, 0 91,4 14 e 13=z9.0 1035, 0 1054, 0
ZETTTE. O B35 14 1 1549. 0 - -
451605 0 535.5 14 1 1z97T.0 - -
B44510. 0 T3. 8 14 = 153=1.0 1=z95. 0 -
40=41. 0 o=, 4 14 S 11=5. 0 1=z4=.0 17354, 0
ZESEST. O B9. 0 14 = 109s. 0 1659, 0 -
42TTZ24. 0 B4.9 14 1 14«47 . 0 - -
Blsalg. O a4, 9 14 3 1255.0 1333, 0 19zg9. 0
158450, 0 TS, 2 14 =4 1382, 0 1959, 0 -
zZOogg4s. 0 T4.9 14 = 1=z=1.0 1167T.0 -
40745 0 B5. 1 14 = 15359. 0 15351. 0 -
S9TS46. 0 55.4 14 1 1TOS. O - -

Type 5 Radar Waveform_9
Bor=+t Pul=ec C]_:n.:i.:rp Homber of
DEFf=eat Width Ca=) Waidth FPol=ex per |[FRT—1 o= PRTI—2 (o= PRT—3 (o=
Ca=] (MH=) Buor=+t
TSSTSO. O ST.T 15 b 1T45. O 10s0. 0 1079.0
1853010 s2.9 1= = 1526, 0 1915. 0 -
IS0l1sT. 0 s50.6 1= 1 1077T. 0 - -
5STZT1S.0 T™1. 5 13 =2 1103, 0 1656, 0 -
TESEST. O S51.5 135 = 14=9. 0 170, 0 -
16z45=. 0 S5, =2 15 1 1554, O - -
355135390 T™5. 3 15 = 1T7TE. O 1945, 0 -
S49T4E. 0O 55.5 15 1 1564, O - -
T4Z15T. 0O BS. 0 15 = 1Tas. 0 1094, 0 -
1355450 5T.9 1= 1 1554, 0 - -
331845 0 T4. B 1= = 1e9s. 0 1=15. 0 -
sSz25TS9.0 54,2 13 1 1TZE. 0O - -
TIESSS. O Q9.3 135 e 1975. 0 17T35. 0 1410. 0
1147S0. 0 55,1 15 1 15610 - -
SIOTTSO. 0 BT.S 15 = 1470, 0 ia91.0 -
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Type 5 Radar Waveform_10

Bur=st Pul Chirp Haomber of
Dffset iy ¥idth Pulses per |PRI-1 (us) [PRI-2 (us) |PRI-3 (us)
¥idth (as)
(a=] (MHz) Burst
Q4125T7.0 TE. 4 5 2 1494. 0 1554. 0 -
1305593, 0 55T 5 1 158Z2.0 - -
1TOSE0. 0 538 5 1 1910.0 - -
534182.0 B0. 6 5 1 1132.0 - -
498105, 0 T1.0 5 2 1936.0 1328.0 -
1259935, 0 a0, T 5 2 1296.0 1345.0 -
175641.0 B3.0 5 2 1841.0 1912.0 -
459275. 0 53.0 5 1 1454. 0 - -
Type 5 Radar Waveform_11
Bor=t Pul=e l:]_:lirp Homber of
ODEfEfsat Width Ca=) Width Fulsex per (FET—1 (o=s]) |[FRT—Z (ox]) |[FET-—3 (oas)
(o= (MH=1 Buar =t
4244265 O (=1 S 15 = 1851, 0 1356 0 10910
EO47TST. O f=1 S = 15 = 1505, 0 1536 0 17430
403545, 0O 835 15 = 1019, 0 11500 1981 .0
ZzZz0z21.0 (=T S 15 1 1s19. 0 - -
4014510 1= 1= ] 15 = 1535, 0 1545 0 17T0O7T. 0O
SS3T1IT. 0O TO. 1 15 = 1437T. 0 1TET. O -
15137.0 55,1 15 1 1z=27.0 - -
199513 0 543 15 1 1875, 0 - -
ST3IS04_ O Q4= 15 = 1Taz. 0 115a. 0 1839Z. 0
SEZ08Z2. 0 &O. 0O 15 1 1085 0O — —
T44159_ 0O 5S4 4 15 1 1511 .0 — —
1TEQZ0. 0 TS, T 15 = 1671. 0 1451. 0 —
35TIIE. O [=1=ar 15 = 1TES. O 1490. O —
SE9386. 0 BS. 1 15 = 150z 0 1=Z8E. 0O -
T19Z96._ 0 8555 15 = 13=0. 0 1Zz51. 0 159=. 0
154540 0 B2 = 15 1 1997T. 0 - -
Type 5 Radar Waveform_12
Bor=+t Pol=a l:]_:lirp Homber of
l:::‘iigset R Fate  (eesd 'l:;ld[;? gﬁ::s per ([PRT—1 (ua=) |[PRT—Z (u=s) |[PRET—3F C(u=s)
Zl14591. 0 99, 1 16 e 1TSE. O 1589, 0 1773, O
4065399, O TS, T 15 = 1Z45. 0 1S517T.0 —
BES5345. 0 =555 16 e 15350, 0 17T=0. 0 15593, 0O
124255 0O S5 T 18 = 1032 0 137T7T.0 1519 . 0O
=Z94554. O S5 4 15 = 1=0&. 0 1401 .0 1440, O
A54S=2. 0 =90 16 e 15240 1115. 0 1295, 0
BEZ451Z. 0O 99, = 18 = 1750 1448, 0 1==1. 0
103504, O T™1. 5 16 = 1855 0 1345, 0 -
Z2T3I399. 0 =593 16 e 130 0 1199. 0 1590, 0O
4455=5. O 51.5 15 1 1=59. 0 — —
B132535. 0 az. 5 16 e 16150 1365, 0 15593, 0
SZ410. 0 =S5 T 18 = 118920 1807. 0 10==. 0
Z5Z2deT. O TL. 1 156 = 1=71.0 145=. 0 —
AZ44Z65. O (=T - 16 1 13TS. 0 - -
SoOzZgaS. O a7, = 15 = 15740 141=. 03 114=. 0O
E1530.0 T4 S 16 = 1010, 0 1735, 0 -
ZE1955S. O B9, T 18 = 1790 1194. 0 —
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Type 5 Radar Waveform_13

meros o |ee s za . e o e -
toceen o |re s za - i7ai o Siee o S
Sesrea o leae za - e o e o e o
Sreres o |sas za . o e e o
toreis o |eis za - o = o e o
Type 5 Radar Waveform_14
Bur=st Pulse [:l_lirp Homber of
Dff=et Width (as) ¥idth Pol=zes per (FRI-1 (us) (FRI-2 (u=) (FRI-3 (u=)
(us) (MHz) Burst
B33T45.0 8l.3 B 2 12240 1259.0 -
QIB54T. 0 BI.T B 2 1443.0 1633.0 -
13B1270.0 55.3 B 1 1237.0 - -
2PERE3.0 85.3 B 3 1152.0 1093.0 1913.0
So0414.0 53.0 B 1 1457.0 - -
9521540 T4.9 B 2 10810 1482.0 -
131331T7.0 97.8 B 3 1591.0 10160 16T3.0
180915.0 TT.B B 2 1858.0 1974.0 -
Type 5 Radar Waveform_15
Burst Pulse E]_:tirp Humber of
Dff=set ¥idth (us) ¥idth Puolses per |[PRI-1 (us) |[FRI-Z (us) [FRI-3 (u=)
(u=) (MHz) Burst
544331.0 BI.5 ] 2 1037.0 1256.0 -
S0ETES. O a0.0 5 2 16940 1916.0 -
1270876, 0 T9.49 5 2 1112.0 1120.0 -
1384435, 0 BZ. 9 ] 1 1355.0 - -
499450, 0 T4.6 ] 2 1&50.0 1059.0 -
8E3433.0 56.0 5 1 12840 - -
1225042, 0 g9.0 5 3 1451.0 1060. 0 1021.0
31691.0 BL.T ] 1 1055.0 - -
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Type 5 Radar Waveform_16
Boar <t Pl = e Chai=y Hombaer oif
DOffset Wi dEE Coa=D Wadtia Fuaulsesx per rrREYT—1 o= FRIL = Coa= FEL 3 Coa=s
Ca=s (M Baoar =t
1S1050. 0 2=, 3 =20 = 1=57T. 0 1=4s. 0 1=Z1s5. 0
SEEETZ. 0O B4, 5 =0 1 1g9ss. 0 — —
a4T=Z40%S. 0 Se.9 =20 1 10353=. 0 — —
1Se5Sa. 0 a9, 7T =0 = 1471, 0O 140&. 0O 1000, O
153574, 0 S35, 3 =20 1 1S4, 0 — —
ZF0OS17T4. 0 TE . S =0 = 1940, O 1=35. 0 —
a4Sz=40S. 0O 2.9 =20 = 195>, 0 1=S7T7r. 0 —
=51 .0 55. 6 =0 1 1656 O — —
14S99e. 0O sSS. 0 =0 1 1S4a=. 0O — —
=Z90ss0o. 0O T, T =0 = 1151 O 19=4._ 0O —
ASEGEAS. O &1. S5 =0 1 1049, O — —
SE5153=. 0 s=. 7T =0 1 1456 O — —
1=Z27TSEe=.0 S5, = =0 = 1zge9. 0O 1S5=. 0 1017 0O
p=arg-=tc t=l= | 1. % =20 = 1904 O 1s=2s. 0 —
41T195. 0 S=. 5 =0 = 148=. 0 1S1a. 0 —
SE3Z17T3a. 0 S=2.T =20 1 193S. 0 — —
1103518, 0 S1. 5 =0 1 11==. 0 — —
=Z54935=. 0 oc=.9 =20 = 1145, 0 1441. 0 —
SFESESS. O S5, 1 =0 = 10==. 0 1&g99. 0 1554 0O
S4asSTTa. 0 =0, 1 =20 1 1425, 0 — —

Type 5 Radar Waveform_17
Boar=+t Fol = C]_:l.irp Homb er oif
NDfFfFf=<et Width C(o=) Wadth FPolses per FRT—1 o= FRYT—=2 =] PRI —3F o=
s (FAH =) Baor=st
102579, 0 =1.0 17T 1 1995 0 - -
EZEGBISE6. 0 S4.9 17T 1 1551. 0 - -
AZZIEET. O s83. 8 17T 3 1=zz9. 0 1390, 0 1309, 0
SSSE52. 0 BT. 3 17 = 1501. 0 1551, 0 —
SES95. 0O TS, = 17T = 1=17._. 0 1734 0O —
243952, 0 =T. = 17T 1 19280 - -
403TS9. 0 0. 4 17T IS 1547, 0 147T3S. 0 153TE. O
SESOTE. O T B 17T = 11s=. 0 125820 —
B29z0. 0 SO, S 17T 1 1=11. 0 - -
EEETOS. O S1. 35 17T = 15950 147TE. 0O —
Is5433. 0 (=1 17T 1 17T11. 0 - -
S455S07T. 0 T1. 4 17T = 1625 0 1552, 0 -
A4Z0O0=S. 0O [=3= =i 17T 1 1=s=s0. 0 — —
Z20357TS. 0 2.6 17T b= 15354 0 1a17. 0 10920
S64ATES. O &539. 0 17T = 1T3=_ 0 145=. 0O —
Szed0ls. 0 TTr. 1 17T = 1107. 0O 1e4=. 0O -
253154, 0 sS4 6 17T 1 19390 - -
1===14. 0 a5 B 17T = 1Ts=.0 100=2. 0 11900

Type 5 Radar Waveform_18
Bor =1t Paol = Chirp Homber oif
DFFFfF=e+ T =1 Width Folses per FRT—1 o= FRT—Z o= FRT—3 (o=
Coaxs ) (MH =¥ Baor=+%
Sog94asSs. O [= 1= =) =0 1=2S1.0 1=s7T3. 0 1SsSS. 0
A4SEETE. O sS4 5 =0 1 10=4_ 0 — —
=Z2954. 0 [= 1= =) =0 = 151=2. 0 1057, 0 154>, 0O
147449 0O b=1 = =1 =0 = 1045 0O 1740 17Ta9. O
Z29=7TSe. 0 [= 1 i ) =0 = i10==2.0 1S4=. 0 —
ASZTSES. O T=. 1 =0 = 1=91. 0 14=1. 0 —
SSTeg9s. O ==, 0 =0 1 1=3S7T. 0 — —
1=g9708. O a5, 1 =0 = 1074 0O 1040, O 1555, 0
Z2T4az44. 0 [= 1= =1 =0 = 13S7T.0 1=, 0 1=3657T. 0
A1S4S0. O a5, 1 =0 = 1S1=. 0 1=Z94. 0 1z45. 0
SEZSES. O a7, =2 =0 = 1451. 0 1=s=9.0 1S=2=. 0
11=110. O TTr. = =0 = 1=Z00. 0 1S47T. 0 —
Z25Te45. 0 B1.0 =0 1 1195 0 — —
Sg9ggoQ=E. 0O a5, S =0 = 190 O 1TSS, 0 1s=5. 0
S45511. 0 ET. T =0 = 1Z04. 0O 1954 0 —
Sa4l1SS. 0O TS. S =0 = 15750 1498 0O —
Z23assT. 0 (=1 B =0 1 17O, 0O — —
SSESSS. 0O a5, 1 =0 = 1295 0 1=11. 0 154, O
SZS090. 0 TS, T =0 = 1714 0O 1sss. 0 —
TE=Z==1. 0 S99, 5 =0 = 1===_0 1S53, 0 13=s. 0
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Type 5 Radar Waveform_19

Bar=st Ful=e Chirp Homber of
ODffset Width C(as) Wadth Polses per |[PRT-1 f(us) |[FRI-2 (us) |[PRET-3 (us)
(a=) (MH=z) Buor=st
389569, 0 TL. S 10 2 1491. 0 1057.0 -
BE104TS. 0O 5. & 10 3 1115. 0 1445 0 16460
B513E5.0 SE. 4 10 3 1814. 0 1596. 0 1Tz4.0
aTIZIE. O 582 10 1 1880. 0 - -
3400350 55.0 10 1 1504 0 - -
55168340 T3, T 10 = 1015. 0 1635. 0 -
243250 B4, 1 10 1 187T.0 - -
BT313. 0 Q0. 4 10 3 1599. 0 1417.0 1533.0
309355, 0 92,9 10 3 1531. 0 1182.0 1565. 0
550493, 0 95. 6 10 3 1804, 0O 17T97.0 1654. 0
T94E8Z1. 0 52,4 10 1 1529. 0 - -
358316.0 55T 10 1 1400. 0 - -
Type 5 Radar Waveform_20
Bar =t TPofle—m Chi=p Humber of
%E:set e et 1;;;? g:i::s per |[PRT—1 f(m=) |[FRAT—Z (a=) (FRT—3F C(m=)
1TSos4. O as. 1 19 = 1s0s. O 17TST. 0O 1456, 0
Szooos. O SE. = 19 1 11500 — —
AS0SDE. 0O EENED 19 = 1154, 0 1551. 0 1O8S. O
SEzs. 0 EER=) 19 = 1453, 0 1904, 0 1516, 0
1Ss009. 0 To. = 19 = 101=2. 0 1116. 0 —
S11085. 0 54 = 19 1 1273 0 — —
aBz439. 0 T T 19 = 1419, 0O 1923, 0 —
B1818T. 0O So. a 19 1 1951, 0 — —
1S04z6E. O S, = 19 1 11=7.0 — —
Zol1Z06E. O s, = 19 = 17TS=. O 1591, 0 —
443510, 0 BS. = 19 = 1S58, O 125s. 0 —
SQavIn. 0 az = 19 = 1Bz 0O 1z0=. 0 1m91. 0
1203710 TR S 19 = 10O0=s 0 1276 0 —
ZTZAB5. 0O TE. = 19 = 189 O 1511. 0 —
AZSEI0OE. O ToO. = 19 = 1170, 0O 1S7T=. 0 —
STSZ41. 0 ES. = 19 = 105z, 0 11z4.0 —
101645, O == T 19 1 1515, 0 — —
254011, 0 =11 19 = 1351, 0 1407. 0 —
AnBa4T. 0 651 & 19 = 1BTI 0O 1186 0 —
Type 5 Radar Waveform_21
Bor=+%t FPul=e Chirp Homber of
Dffset Width 3 Width Fulse=z per |[FET—1 (o=) |[FET—Z (uox]) |[FRET—3 (o]
(a=) * = (MH=) Buor=*%t
TOTI9l1l. 0 ™. T 14 = 17TTS. 0 1535. 0 -
105037T. 0 51.3 14 1 1416 0 - -
295719, 0 B5.1 14 1 1415. 0 - -
49170, 0 T4, 1 14 = 13120 1236, 0 -
BS3TZE. O 95,1 14 S 1155. 0 1015 0O 1955. 0
S10s0. 0 B5. 1 14 = 13335. 0 1073 0 -
Z2TISTI. 0 55. 6 14 S 1gig. 0 157TO. 0O 1537T2.0
4BTOZS. 0 S5.T 14 S 11835. 0 1100, 0 1T42. 0
BEZ454. 0 565 14 1 1141. 0 - -
ST346. 0 B4.9Q 14 1 1094, 0 - -
zZ5057TT. 0 TE. T 14 = 1666, 0 1110, 0 -
444555, 0 5=.1 14 1 147=.0 - -
BISTS1. 0 Q95,9 14 S i109T.0 17Taa. 0 1Te0. 0
S53S05s. 0 as5. 7T 14 S 1a10. 0 15355, 0 1514, 0
ZEBIEE. 0 91. 4 14 S 1499. 0 1070, 0 17T=1.0
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Type 5 Radar Waveform_22

Bor=+t Paol=e l:]_:lirp Homber of
EEEE;'_:et Width C(a=) '(;]d{:?. gi::s rer |[FRI—1 (o= FRT—Z2 (m=s) FRT—3F (m=s)
SOISTD. 0 Ta. = 15 = 1917T. 0 1z11.0 -
STEOOS. O sS4 T 15 1 1456. 0O - -
Qo100 sz, 3 15 1 1181.0 - -
1596814, 0O I =] 15 <] 17TTT. 0 1702, 0O 1662, 0
STZOST. O S5, 4 15 1 15TS. 0O - -
SE3S11. 0 s6. 5 15 1 1905, 0 - -
TEIO0S4. 0O BS. & 15 = 1944. 0 1BS5. 0O -
1BSZ2068. 0O BE. S 15 i 1554, 0O - -
45415, 0 S5, 3 15 k] 1139. 0 1986, 0O 115T.0
S25449. 0 S5, 3 15 <] 1631.0 18583, 0 1931. 0
Ti147T=2. 0 TT. 2 15 = 1652, 0 12268, 0 -
145305, 0 Q4.1 15 <] 12585, 0 1351. 0 15135, 0
SZESSE. 0O Ta. 5 15 = 1740, 0 1515. 0 -
SOBTSZE. 0O sS4, 5 15 <] 1945, 0O 1525, 0 1173. 0
BO0S98. O =34 15 i 1515, 0 - -
123012, 0 ag. 0 15 k] 15T1. 0 1061. 0 1274. 0
Type 5 Radar Waveform_23
Bar=s+t Pal Chirp Hoamber of
Off=et Width (ax) |Hidth Ful=zex per |[PRI-1 (us) (PRT-—2 (u=) |[PET-3 (u=)
(ax) * L= (MH=x] Bur=st
405964 0O 86T 10 3 1005 0 1055, 0 1605 0O
BASSTS. O Bl. S5 10 1 1T36. 0 - -
S91510. 0 B3.T 10 1 1145. 0 - -
134605, 0 6. T 10 =2 19z1.0 1465. 0 -
SITTOSO, O 54,4 10 1 137T3.0 - -
E1s194. 0 g83.0 10 =2 16530 14=5. 0 -
SEOO31 .0 822 10 = 16400 13=9.0 -
1050190 51.3 10 1 1842 0 - -
3472910 B5S B 10 1 1245 0 - -
S8TT4T. 0O 865 10 3 13250 1T13. 0 12100
S316Z26. 0 =1 = 10 1 1393. 0 - -
TSOET. O B3, 2 10 =2 1474.0 1856. 0 -
Type 5 Radar Waveform_24
Bur=t Fulse Chirp Homber of
Offset Width Cas) Hidth Fuolzes per |[FRT-1 (us) |[FRI-2 (ux) |[FEI-3 (u=)
(us) * b (MH=z) Bur=st
379900, 0 94. 5 5] 3 14z24. 0 1510.0 15343. 0
BT1199.0 g1.6 5] 2 i041. 0 1203.0 -
aB1365. 0 g1.1 5] 2 1156. 0 1493. 0 -
54405, 0 T™4.5 5] 2 1076, 0 17T04. 0 -
24407T.0 ag. T = 3 1BE1. 0O 16220 1900, 0
BI4081. 0 a5.1 = 3 117T2. 0 1622, 0 19460
QZ3TET. 0 a4,z =1 i 1TE4. 0 1710, 0 1516.0
15655, 0 B5. 5 g 1 1597.0 - -
3093750 BE. 1 g 1 1340. 0 - -
5994035, 0 g9.49 g z 1530, 0 1117.0 -
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Type 5 Radar Waveform_25

:;:-;::t = i %ﬁ:? EE::E 2i |rrr-1 u=y [PERr = Cu=y (PRI = ca-d
= = mr =t
44054, O T=E. & =0 = 114=_ 0O 13=Z8. 0 —
SoSoZ=ZT9. 0 TS, 3 =0 = 1343, 0 1S40, O —
138629 0 =7T. 0 =0 1 1534=_0 — —
=ESO0S59. 0O S5. 0 =0 = 1=Z05. 0 140=. O 1T==.0
AZSe0T . 0 A= =] =0 = 1TSoOo. o0 1S37T. 0 —
S690=5. 0 =59 =0 b 1TEGS. O 1305, O 1ssS6. 0
11sS7TS5s5S. 0 BS. S =0 1 1=9=. 0 — —
Z2E313=3T. 0 T4, 1 =0 = 19=4. 0 1==25. 0 —
40949, 0O 555 =0 1 1609 0 — —
S54490. O 555 =0 1 1184 0O — —
100501, 0 S=.0 =0 1 1595, 0 — —
245452 0 [=1=Tm ] =0 = 15==4. 0 1=47. O —
SSSST9. 0O S5, 1 =0 = 1950 1S07. 0O 1=01. 0
53=5d1. 0 b= 4 =0 = 198=._ 0 17719, 0 16=1._0
SETZ1I. 0O So. 1 =0 = 1TEQ. O 135S, 0 —
Z2T7Sa0. 0 [S1=BaR=] =0 = 15570 1=3=27T. 0 —
ST1I365S. 0 ST. 0 =0 b 19s=. 0 1514 O 1=50. 0
S1Ss53S. 0 a5, = =0 = 1984 0O 1Tas. o 107T1. 0
540551 . 0O TEZ. B =0 = 13373, 0 1=301. 0 —
210175 0 =1. 0 =0 1 1645 0 — —
Type 5 Radar Waveform_26
Bor=+t Pol Chirp Homber of
Off==t S dnrn Ca=) |Hidth Fulzes per |[FRI—1 (us) |[FRI—Z (us) |[FEI-3 (u=)
(as] * i (MH=x=) Burst
s0TEg99. 0O BS. 2 13 = 1042 .0 1059.0 -
Tl4625. 0 T1. T 13 = 1555. 0 1103. 0 -
BETIZ2T. 0 Q0.3 13 =S 1317.0 10135. 0 1001, 0
Z2T45T4. 0O 505 135 1 1567T.0 - -
451454, 0 T1.9 15 b= 194z 0 1454, 0 -
BQO0S5=. O 53T 13 1 1437T.0 - -
4159350 5T. 2 13 1 1545. 0 - -
249479, 0 52T 13 1 1332, 0 - -
4557539, 0 aT. 5 135 5 147TT.0 1144. 0 1147T. 0
BEZ010. 0 Q4. T 1= bc] 14z5. 0 1T=Z0. 0 15=z0. 0
186237T.0 a0, T 15 bE] 10820 1644, 0 1947. 0
Z22F2B9.0 85,0 13 b} 1244 0 11=21. 0 1425 0
450267T. 0 T9. 5 13 = 19960 17T=29.0 -
BEST3S5. 0 BE&. T 135 = 10050 1501.0 -
Type 5 Radar Waveform_27
Buar=st Pul=e Chirp Humber of
Dff=et Width (us) Width Fulsex per |[FRI-1 (us) |[PRI-2 (ux) |[FRIT—3 (ux)
(u=) (MH=]) Burst
1075200, 0 89,2 9 10B8T.0 1553. 0 1335.0
251852, 0 oo, 4 ] ] 17T47.0 1234. 0 1119.0
S1B055. 0 B3, T 9 2 1654. 0 1207.0 -
TTIS09. 0 B3, 4 ] 2 1515. 0 1230.0 -
1045182, 0 531 9 1 1449, 0 - -
219375.0 6. 3 ] ] 1105. 0 2000, 0 1159.0
4832730, 0 85. 5 9 3 1485, 0 1187.0 1893 0
T45555. 0 q1. 6 ] ] 14B0. 0 1700, 0 1960, 0
10111390, 0 S5z2.4d =] 2 1T1Z.0 1292. 0 -
187366, 0 B1.T ] 1 1660, 0 - -
451619. 0 BS. 2 =] 1 1473.0 - -
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Type 5 Radar Waveform_28

Bor=t P Chirp Homber of
Off=et 'gﬁf; (a=) |Fidth Fuolzex per |[PREI—1 f(u=) |PRI—2 (u=s) |PEI—3F (u=)
(a=x] (MH=x) Buor=st
S61240. 0 T5.5 1z = 1492. 0 1504. 0 -
TET10T. 0 5. 6 1z 3 1620, 0 1235.0 1ST6. 0
121352. 0 90. T 1z 3 1265.0 1053. 0 1075. 0
FETES1. 0 o4, 4 1z 3 1554. 0 1484. 0 1175. 0
S3I5BTE. O TT.T 1z 2 1788. 0 1280.0 -
T41054. 0 95, 1 1z 3 1823. 0 1857.0 1382. 0
95TEO. O aT. 9 1z 3 1549.0 1353. 0 1263. 0
F0Z447.0 az. 9 1z 3 1918.0 1404.0 1371.0
511025. 0 BS. 1 1z 1 1626. 0 - -
TISTE3. 0 51.6 1z 1 1794.0 - -
TO459. 0 S0. 9 1z 1 1982. 0 - -
2771510 g84.5 1z 3 1310.0 1307.0 1613. 0
485324, 0 S6. & 1z 1 1&8TS. 0 - -
E92TEE. O 63. 1 1z 1 1836. 0 - -
Type 5 Radar Waveform_29
Bor=+ ol = Chiryp Homber oif
OfFfset Width (o=l Width Folses per FRHT—1 L. T | FPFRT—F Coas FPFRT—3 o=
Coa=3 = [T Bar=t
S4iSz4. 0 TS, 1 17T = 195T. 0 1652, 0 —
1957T3=. 0O TS, T 17T = 1S9=. 0 155656. 0 -
SFSTS0O4. O B=.1 17T 1 1054, 0 — —
S1TSES. O TE. T 17T = 1580, 0 1323, 0 —
15070, 0O =9, 1 17T 1 11065, 0 — —
1TE4S51 . O B35 = 17T 1 1140, 0 — —
SETs0OT. 0O BES. O 1T 1 1506 0 - -
AQEg09. O L= ] 17T = 1819. 0 1165, 0 154+, 0O
&Sa0T7T1l. 0 (== ] 17T = 1507. 0 1255, 0 —
156605, O 51.= 17T 1 1115, 0 — —
S1a0093. 0 21,7 17T =] 1995, 0O 1459. 0 1544, O
A4TESES. O 949, 35 1T = 14650 1966. O 1Z60. 0
5Z9S05. 0O BT, & 17T = 1177. 0 10=0. 0 —
156075, 0O o=, 1 17T = 1839, 0 1197. 0 141=. 0
=Z97T315. 0 TG, o 17T = 1050, 0 190S. 0 —
459z=19. 0 [S1= =] 17T 1 16035, 0 — —
B19Z3=3=. 0 TE. T 1T = 1z05. 0 17T7TSs. 0 -
116z9=. 0 L=1= =] 17T = 1555, 0 1557. 0 107, 0
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Radar Type 6 - Radar Statistical Performance

Trail # 1=Detection Trail # 1=Detection
0=No Detection 0=No Detection

1 15

16

17

18

19

20

21

22

23

OO |W|IN|F|O

24

[EEN
o

25

[y
[N

26

[ERN
N

27

[ERN
w

28

RlRr|Rr|RPR|IP|IRP|IRP|IRPIRP|IO|R|R|R|R
RlRr|lRr|RP|RP|IP|RP|IRPIRP|RP|RP|R|R|RL |k,

14 29

Detection Percentage (%) 96.7%

Type 6 Radar Waveform_0

Frzg=emaZ, |o 1 = = a

(5] S5=1 SSa4= =417 S48 S5=5S
= S4=5S =SS=1 ==41 S5Ta SE05
A ===y L= Sy = == L= | 553535 S286
1= SaST S49= = 8=1=] SS5=T SEag95
=ik =g e | SEZ=0 =T1E S53TE Sa=52
=0 S5S5S S49= === STo0O =SS=1
=i S5O0 =T1a 5551 S55949 =T S |
=14 S50t L= i=1o] SE=E= S549 =1 =1=1m]
RN 55135 S451 =5T15 S350z S=95
L =4 Sa4T5s = A= SEGET S50 Sa4-aT
= L= 1= s SETS S=EDs S54= =aSa
== L= = S=5= SETE S5=T ===1
(=98] S3== L=l e oy === =t =] SaSS
[ =14 SS35S0 ==5S0 = Sl = S=a4=0 S=9
T S55a S4SS SEgO= Sa=1 SE5S5
T= S4a4s0 ===l SS=0T S=== S=4a400
B S5S= ==t =1 SES= I=1=1=hr S=09
E=1=4 ==2=0 SETS S5EO =53=13= Sa09a
=10} ST=E5 L= e S==4 == i=1=] =SS5 T
b= =4 5525 =257 53355 SZ256 5351
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5. CONCLUSION

The data collected relate only the item(s) tested and show that the device is in compliance with FCC

Rules.

The End
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Appendix A - Test Setup Photograph

Refer to “2103RSU011-UT” file.
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Appendix B - EUT Photograph

Refer to “2103RSU011-UE” file.

Page Number: 181 of 181





